Air Cylinder

CA2 series
040, 50, 63, 380, 100

—
—

e

~—
C—

JCM
1.31 kg 1544 M2
cM3

(> BIN¥]
(7 BIN "]
N || =

Easy air cushion control I Various switches such as compact auto switches and
Number of cushion valve adjustment rotations | magnetic field resistant auto switches can be mounted.
increased from 1 rotation to 3 rotations.

Compact auto switches —
- D-M9J
-D-A9] =

Fine adjustment becomes easy, ensuring smooth
operation at the stroke end.

Magnetic field resistant
auto switches

-D-P3DWA -
- D-P4DW /




I Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

example) CDA2[D]40-1002- N W -moBW

Mounting
Pivot bracket N: Kit of pivot bracket | Kit of pivot bracket | [Ja{els RIgle N T I IG1] With rod end bracket

Nil |None and double clevis | and trunnion Nil |None V: Single knuckle W: Double knuckle
[ " joint . joint

Pivot bracket is
N shipped together
with the product,

V | Single knuckle joint
W | Double knuckle joint

“

but not assembled. S
* Applicable to only mounting D (Double /\’
clevis) and T (Center trunnion).
I Various mounting bracket options  o.oouke cievis N aocketand

* Suitable mounting brackets can be selected for Q_,* . /
the installation condition. fHe
* Improved amount of mounting freedom

B: Basic

N: Kit of pivot bracket
N\, and trunnion

T: Center trunnion
N: Kit of pivot bracket

L: Axial foot and trunnion

. . (kg)

Reduced weight by changing CA2
the shape of the rod cover 40 | 093 | 2% | 106 |
and head cover. i |_ 181 | 5% | 154 |
63 | 184 | 14% | 215 |

80 | 817 | 1% | 35 |

100 | 429 | 10% | a7 |

« Compared to 50 stroke for each size

466 ZS\C



No substances
hazardous to the
environment are used.

Lead free bushing is used as
sliding material.
Compliant with EU RoHS
directive.

CJ1

(x]
—
-}

ston rod lurching reduced

g

J

Air passage notch

Piston lurching is reduced When starting JCM
, " o by the construction which ~ operation
Mounting dimensions minimizes resistance in ar ) CcM2
are the same as the the air passage at startup. e
current product. CM3

Cushion ring ’_@1@

- CG1
Stroke Variations
Bore size Standard stroke ch
(mm) 25 50 75 100 125 150 175 200 250 300 350 400 450 500 600 700 Up to 1800 JMB
40 Q@ @ 0 90 ¢ 90 90 ¢ 90 90 9O 90 o o
e e e e e e e I A B MB
5999999999 e e e e ME1
80 @ O O ¢ ¢ ¢ ¢ 99 99 9 ¢ 0 9 9 0 o
R R E R EEEEEEEEERS ca2
Series Variations CS1
Bore size (mm) Variations ‘
Series Type Page cS2
40 50 63 80 ‘ 100 = With rod boot = Water resistant
Standard CA2-Z
Singlerod () [ - * " * * Page 470
:-*-'V Doublerod - () 3 v @ ™ 3 < Page 486
Non-rotating rod CA2K
ne Single rod () @ [ [ Page 494
_;; 1’ "Jz/)
2R o p
R I%“r: Doublerod () () ) (w2 Page 498
With end lock . CBA2
%:. 2 ad Singlerod - () (3 w2 (3 [ (3 Page 502
Air-hydro CA2H
. Single rod () * ¢ - " * Page 508
2t 4 uu
av NA N Doublerod () * > ™ [ <@ Page 512
Smooth Cylinder CA2Y-Z Best P ti
) 5 Singlerod - () [ = - @ Es Ng?g_'ga ICS
Low friction > CA200Q ias & f - ) A -~ D-O
4= J Use the new series “Smooth Cylinder CA2Y Series” to realize both-direction low friction and
p '_‘QJ‘ low-speed operation. (Refer to the Best Pneumatics No. 2-3.) XD
2 ~ -
# For details about the clean series, refer to the “Pneumatic Clean Series” (CAT.E02-23). W
ata

467



Combinations of Standard Products and Made to Order Specifications
CA2 Series

CA2 CA2K Nt
(Standard type) (Non-rotating rod type)
@ : Standard N
© : Made to Order Action/ Double acting
O : Special product (Please contact SMC for details.) Ype Single rod Double rod Single rod Double rod
: Not available
Page 470 | Page 486 | Page 494 | Page 498
Symbol Specifications /i)’;egcsgée —
Standard d [ ] [ ) [ ) [ ]
CDA2-0Z Built-in magnet ™Y Y ) °
Long st Long stroke 40 to 2100 [ ) ) O O
CA20-0JZ With rod boot (Nylon tarpaulin) ) [ ] [ ] [
CA20-0KZ With rod boot (Heat resistant tarpaulin) [ [ () [
10-,11- Clean series Note 4) 040 to 863 [ ] O — —
25A- Copper (Cu) and Zinc (Zn)-free Note 1) () O — —
20- Copper Note 2) and Fluorine-free 0400 0100 [ []
CA2CR Water resi (NBR seal) [ [e) — —
CA20V Water resi (FKM seal) 240 to 0100 (] O — —
CA20M Cylinder with stable lubrication function (Lube-retainer) [ ] O — —
XAO Change of rod end shape [@) [@)
XB5 Oversized rod cylinder Note 4) O O — —
XB6 Heat resi cylinder (-10 to 150°C) (@) [@) — —
XC3 Special port location Note 4) © O O @)
XC4 With heavy duty scraper © @) — _
XC5 Heat resi cylinder (-10 to 110°C) (@) [@) —
XC6 Made of stai steel Note 4) — — — —
Tie-rod, cushion valve,
Xc7 tie-rod nut, etc. made of stainless steel © @ © ©
XC8 Adiust?blet stroke cylinder/Adjustable ©) _ e) 0
ype
Adjustable stroke cylinder/Adjustable
XCo retraction type ) - o -
XC10 Dual stroke cylinder/Double rod type (@) — (@) —
XC11 Dual stroke cylinder/Single rod type (@) (@) (@) —
XC12 Tandem cylinder [@) O O —
XC14 Change of trunnion bracket mounting position (@) (@) (@) (@)
XC15 Change of tie-rod length 040 10 6100 (@) [@) O O
XC22 Fluororubber seal [@) O — —
Double clevis and double knuckle joint pins
XC27 made of stainless steel < - ) -
XC28 C flange made of $S400 O O O [@)
XC29 Double knuckle joint with spring pin [@) [e) O O
XC30 Rod trunnion [@) [e) O @)
XC35 With coil scraper [@) O — —
XC65 Made of stainless steel (Combination of XC7 and XC68) [@) (@) — —
Made of stainless steel
Xces (with hard chrome plated piston rod) © o - -
XC85 Grease for food pr ing equi nt [@) O O @)
Spatter resi coil scraper, Lube-retainer,
Xces Grease for welding (Piston rod: Stainless steel 304) © o - -
Spatter resistant coil scraper, Lube-retainer,
Xcs9 Grease for welding (Piston rod: S45C) ) o - -
Spatter resistant coil scraper,
Xco1 Grease for welding (Piston rod: S45C) ) o - -
X1184 Cylinder with heat resistant reed auto switch (-10 to 120°C) [@) O — —

Note 1) For details, refer to the Web Catalog.

Note 2) Copper-free for the externally exposed part. For details, refer to the Web Catalog.
Note 3) For details about the smooth cylinder, refer to the Best Pneumatics No. 2-3.

Note 4) The cover shape is the same as the current product.

468



CA2 series

(Refer to the Best Pneul

matics No. 2-3.)

Use the new series “Smooth Cylinder CA2Y Series” to
realize both-direction low friction and low-speed operation.

CBA2 Note )
(With end lock)

CA2[JHNere®
(Air-hydro type)

CA2Y Note3)
(Smooth Cylinder)

CA201Q M4
(Low friction type)

Double acting

Singlerod | Single rod

Double rod

Single rod

Single rod

Page 502 | Page 508

Page 512

Best Pneumatics No. 2:3

Page 516

Symbol
Standard

CDA2-0Z

Long st

CA20-0JZ

CA20-0KZ

Helelie) I ]

10-, 11-

25A-

Relnelelel I J

20-

CA200R

CA20V

CA200M

XAO

| O]l

[ O]

XB5

XB6

ONoes)

XC3

Zz

ote 7)

Zz

ote 7)

XC4

XC5

XC6

O 0|1 |Q|o|I [olo]1 |ojofo] |

XC7

Xcs

XC9

Olo|o[o|0] |

[|OO]| [O0] © | O | ©

| [0l |00 © | O | © |Ofl

O|O|0|0|0] O |0|O|O|o|0|0] © | © | O |O]] |O|O]] |O|O]] |[O|O|O] |

O|0|l |00 © |0/0|0|00|O

(e]le]e)(e](®]

O\l 0|00 ©

O |0/l 0|00 ©

o|ojolo
|

@) —

Note 5) Available only for locking at head end.
Note 6) Available only for locking at rod end.
Note 7) Standard for the air-hydro type

Note 8) CA20]Q series has no cushion. Only XC3BC, XC3CD and XC3DA are available.

O

SVC

469

HEEHBBEBEE
WA PSSO -

=
=]
—

oo
Al
N || =



Air Cylinder: Standard Type
Double Acting, Single Rod

CAZ2 Series

240, 50, 263, 380, 3100

How to Order

—[MoBWI[ |-[ |

With auto switch Number of
(Built-in magnet) Bore size ® Bracket 1 Auto switch auto switches
Mounting 40| 40 mm| Port thread Nil [ Without bracket | Nil [ Without auto switch] NIl 208
- oo 50| 50 mm type N Pivot bracket  For applicable auto switches, s T ppc -
L Axial foot 63| 63mm Nil Rc  Only for D and T mounting types. refer to the table below. 3 3 -
80| 80 = Pivot bracket is shipped together with m "pcs.
F Rod flange o mm TN |NPT the product, but not Bracket 2 n_ [‘n"pes.
G | Headflange mm TF | G : : Nil | Without bracket
C | Single clevis Suffix (Cushion) . <
g Tube material [Nl | Arcwhon ] V__|Single knuckle joint| Made to Order
D | Double clevis = - Nil Air cushion W __ |Double knuckle joint For details, refer
T | Center trunnion Nil_] A“‘ST;:TESZ“ | [N [ Rubber bumper | + A knuckle joint pin is not provided 10 the next page.
= Mounting brackets other - with the single knuckle joint.
than center trunnion are  * Not available with auto switch. Suffix (ROd bOOt) * Rod end bracket is shipped
shipped together. Nil None together with the product, but not
Cylinder stroke (mm) J Nylon tarpaulin assembled.
For details, refer to the next page. K |Heat resistant tarpaulin

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

Electrical Wiring Load voltage Auto switch model |Lead wire length (m) Pre-wired
Type Special function entry (Output) DC AC Tie-rod Band 05 |1[3|5 connector Applicable load
mounting | mounting | (Nil) [(M)| (L) | (Z)
. M9N = ® /@ O o
-wire (NPN
Sure (PN 5V,12V — G59 ® —100 O __ic dircuit
Grommet | | 3-wire (PNP)| 24V — LEP = e 00 O
- = G5P ® —|@® O o
. M9B = ® /@ O O
2-wire 12V — K59 ° ® O o _
5 Terminal 3-wire (NPN) 12v G39C G39 — | === —
£ conduit 2-wire K39C K39 — === =
= 3-wire (NPN) MOHWE S e ¢00 O -
5 5V 12V = G59W ® |—®|O O |IC cireuit, Relay
: Diagnostic indication Yes! 5 ire (PNP) ’ MoPW — ® (/@0 O O PLC
k] (2-color indicator) — G5PW ® — @O o
a2 ] M9BW = ® /e O o
= 2wie | gy | 2V ] — | Koow | @ [—|e|o| O
@ Grommet 3-wire (NPN) 5V 12V M9INA*! — O |O|@|O o _
Water resistant 3-wire (PNP) ! M9PA*! — O |0O|e@]|O (e}
(2-color indicator) 2-wire 12v M9BA*! — O |O|@|O o
= G5BA*' | — |—|@|O o
With diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V F59F G59F ® —|0 |0 o IC circuit|
Magnetic field resistant 2-wire _ P3DWA = [ ] { 2K ] o _
(2-color indicator) (Non-polar) P4DW — — |—|®|® o
e 3wire (NPN equivalent)]  — 5V — A96 = e —| 0| — — |ICcircuit] —
5 L] 100V | A93 = o (0o/0 /0| — —
= Grommet |No| 100Vorless| A90 = ® |—|® —| — |Ccircui Relay,
@ o [Yes| 100V,200V] A54 B54 e |— o0 -— PLC.
2 No| 5 ire oay | 12V [20Vorkess| A64 B64 o —o/—| —
5 Terminal — A33C A33 — === = _ c
3 conduit A34C A34 — === = PL
3 DIN terminal|' VA0V Adac | Aga | — [—[—|—| — Relay,
Diagnostic indication (2-color indicator) | Grommet — — A59W B59W e —| 0| — — PLC

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
A water-resistant type cylinder is recommended for use in an environment which requires water resistance.

* Lead wire length symbols: 0.5 Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.
1

m M (Example) MONWM
3m L (Example) MONWL
5 Z (Example) MONWZ

* Since there are other applicable auto switches than listed above, refer to page 523 for details.

* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.

* The D-A90J/M9OICICI/P3DWAL auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9C1/
M9OOO before shipment.)

470



Symbol

Double acting

Air cushion

Made to Order: Individual Specifications
(For details, refer to page 524.)

| de t0
MgrdEf

Symbol Specifications

Cylinder with heat resistant reed auto

X184 _iten (10 to 120°C)

Made to Order

Click here for details

Air Cylinder: Standard Type
Double Acting, Single Rod

CA2 series

Specifications
————
Bore size (mm) 40 [ 50 ] 63 I 80 [ 100
Fluid Air
Action Double acting
Proof pressure 1.5 MPa
i operating pressure 1.0 MPa

Ambient and fluid temperature

Without auto switch: =10 to 70°C*1

With auto switch

: =10 to 60°C*1

Minimum operating pressure

0.05 MPa

[z NN x]
€= || C=
0 || =

Piston speed

50 to 500 mm/s

[y
[
N

Cushion Air cushion or Rubber bumper
Stroke length tolerance Upto 250 st 17 251101000 st: 7 1001 to 1500 st *1® 1501 to 1800 st. 22
Lubrication Not required (Non-lube) JCM
Mounting Bgsic, Foot_, Rod flange, Head flange _

Single clevis, Double clevis, Center trunnion CMZ

Air ‘ When activated 2.8 4.6 7.8 16 29

kinetic cushion | When not activated 0.33 0.56 0.91 15 2.68 cm3
energy (J)*2[  Rubber bumper 1.8 3.6 6.0 12.0 12.0

*1 No freezing

#2 Activate the air cushion when operating the cylinder. If this is not done, the piston rod
assembly or the tie-rods will be damaged when the allowable kinetic energy exceeds the

values shown in the above table.

Standard Strokes

[ 2INx)
QDD
QO || =

 Auto switch mounting brackets/Part no.

+ Refer to page 485 for part numbers and dimensions.

471

Symbol Specifications JMB
-XALO | Change of rod end shape
[-XB5 | Oversized rod cylinder* (mm) MB
-XB6 | Heat resistant cylinder (~10 to 150°C) B Standard stroke Note 1) Max.
-XC Special port location® Stroke range (1 Stroke range 2 stroke
-XC4_| With heavy duty scraper 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, MB1
-XC5 | Heat resistant cylinder (-10 to 110°C) 40 350, 400, 450, 500
Tie-rod, cushion valve,
XC7 | ie-rod nut, etc. made of stainless steel 50, 63 22052035428052)5562)20 175, 200, 250, 300, Up to 1800 Up to 2700 m
-XCi Adjustable stroke cylinder/Adjustable extension type 5 ;50 7;5 106 12;5 150, 175. 200, 250. 300
-XC9 | Adjustable stroke cylinder/Adjustable retraction type | 80, 100 » 90, 79, 100, 125, 150, 175, 200, 250, 300,
-XC10 | Dual stroke cylinder/Double rod type ? 350, 400, 450, 500, 600, 700 cs1
E 2 Dual stroke cylinder/Single rod type Note 1) Intermediate strokes not listed above are produced upon receipt of order.
=XC12 | Tandem cylinder _ _ Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air |GS2
EARY : Change °f1"u"”'°” bracket mounting position Cylinders Model Selection” on front matter pages. In addition, the products that exceed
= :2‘2 CFDIhange gb“e'mdl length the stroke range (1) might not be able to fulfill the specifications due to the deflection etc.
sl Duotn;claru y e see:j double Knuckie ioint pi Note 3) Please consult with SMC for manufacturability and the part numbers when exceeding the stroke range ).
-XC27 ouble clevis and double knuckle joint pins Note 4) The stroke range with rod boot is 20 to 1800 mm. Please consult with SMC when exceeding 1800 mm strokes.
made of stainless steel
[ -XC28 | Compact flange made of S5400
2 7:23' pouble kuicklo joint with spring pin ‘ Minimum Stroke for Auto Switch Mounting ‘
-XC35 | With coil scraper .
-XC65 | Made of stainless steel (Combination of XC7 and XC68) A
-XC68 Made of stainless steel (with hard chrome CaUtlon
plated piston rod) _ _ The minimum stroke for mounting varies with the auto switch type and
-XC85 S’ease for food 7’°°ess'tgbeq“'9me”‘ cylinder mounting type. In particular, the center trunnion type needs
-XC88 patter resistant coil scraper, Lube-retainer, . )
Grease for welding (Piston rod: Stainless steel 304) careful attention. (For details, refer to pages 521 and 522.)
-XC89 Spatter resistant coil scraper, Lube-retainer,|
Grease for welding (Piston rod: S45C) .
-XC91 Spatter resistant coil scraper, Rod Boot Materlal
Grease for welding (Piston rod: S45C)
For special port location (-XC3), the mounting bracket Symbol Rod boot material Max. ambient temperature
and port location can be determined using the standard J Nylon tarpaulin 70°C
product corresponding to the operating conditions. K Heat resistant tarpaulin 110°C*
+ The cover shape is the same as the current product.  Maximum ambient temperature for the rod boot
For made of stainless steel (-XC6), use made of
stainless steel (with hard chrome plated piston rod) Accessories
(-XC68) that the surface treatment is performed on —————
the piston rod with the same specifications.
5 = Mountin Basic Axial Rod Head | Single | Double | Center
Refer to pages 517 to 523 for cylinders with 9 foot | flange | flange | clevis | clevis |trunnion
auto switches. Rod end nut ° D ° ° ° ° D
Standard Clevis bi
* Auto switch proper mounting position (detection VIS pin _ — — — — — [ ] — D-0O0
at stroke end) and its mounting height g'ng:: k:‘mk:l’ joint | @ L) L] L) L) L L)
* Operating range Option (vztjh :in)nuc e joint [} [ ] [ ] [ ] [ ] [ ] [ -XO
* Minimum stroke for auto switch mounting With rod boot ° ° ° ° ° ° °


http://www.smcworld.com/products/en/custom.do

CA2 series

Ordering_] Example of Cylinder Assembly

Cylinder model: Double clevis
CDA2D50-100Z-NW-M9BW

Mounting D: Double clevis
Pivot bracket  N: Yes

Auto switch D-M9BW: 2 pcs.

Weights/Aluminum Tube (Steel Tube)

# Pivot bracket, double knuck-

Rod end bracket W: Double knuckle joint le join! and auto SWi'_Ch &
shipped together with the

product, but not assembled.

Mounting Brackets/Part No.

Bore size (mm) 40 50 63 80 100
Axial foot* CA2-L04 | CA2-L05 | CA2-L06 | CA2-L08 | CA2-L10
Flange CA2-F04 | CA2-F05 | CA2-F06 | CA2-F08 | CA2-F10
Single clevis CA2-C04 | CA2-C05 | CA2-C06 | CA2-C08 | CA2-C10
Double clevis+:* CA2-D04 | CA2-DO05 | CA2-D06 | CA2-D08 | CA2-D10

(kg)
Bore size (mm) 40 | 50 | 63 | 80 | 100
. Aluminum tube| 0.73 | 1.06 | 1.53 | 2.73 | 3.71
Basic
Steel tube 0.781.12|1.62|2.91 | 3.98
. Aluminum tube| 0.91 | 1.25 | 1.83 | 3.40 | 4.64
Axial foot
Steel tube 0.96 | 1.31]1.92 | 3.58 | 4.91
Aluminum tube| 1.09 | 1.48 | 2.28 | 4.18 | 5.57
Flange
. X Steel tube 1.14 11,54 |2.37 | 4.36 | 5.84
Basic weight -
Single Aluminum tube| 0.95 | 1.37 | 2.12 | 3.84 | 5.43
clevis  |Steeltube |1.00|1.43|2.21|4.02|5.70
Double |Aluminumtube| 0.99 | 1.46 | 2.28 | 4.13 | 5.95
clevis Steeltube | 1.04 |1.52|2.37 | 4.31 |6.22
. Aluminum tube| 1.08 | 1.51 | 2.29 | 4.28 | 5.93
Trunnion
Steel tube 1.13|1.57|2.38 | 4.46 | 6.20
Additional weight | All mounting | Aluminum tube| 0.20 | 0.25 | 0.31 | 0.46 | 0.58
per 50 mm of stroke | brackets  |Steeltube | 0.28 | 0.35 | 0.43| 0.7 | 0.87
. Single knuckle 0.23]0.26 | 0.26 | 0.60 | 0.83
Accessories
Double knuckle (with pin) | 0.37 | 0.43 | 0.43 | 0.87 | 1.27
Calculation: ® Basic weight

Example) CA2L40-100Z ® Additional weigh

(Axial foot, 240, 100 stroke) @ Cylinder stroke ------ 100 stroke

0.91 +0.20 x 100/50 = 1.31 kg

472

+= When axial foot brackets are used, order two pieces per cylinder.
=i A clevis pin, flat washers and split pins are shipped together with double

clevis.

Allowable Kinetic Energ_y

1000 2100
200
263
250
240
100
C)
=4
2
©
£
el
©
o
-
10
1
S $

Maximum speed (mm/s)

(Example) Find the upper limit of rod end load when an air
cylinder of @63 is operated at 500 mm/s.
From a point indicating 500 mm/s on the axis of
abscissas, extend a line upward and find a point
where it intersects with a line for the 63 mm
bore size. Extend a line from the intersection to
the left and find a load mass 60 kg.



Water Resistant

Air Cylinder: Standard Type
Double Acting, Single Rod

CA2 series

CDAZ‘ Mounting type HBore size H Port thread type ‘

[ stroke | Sutfix|Z — MOIA(V)L [-XC68

With auto switch
(Built-in magnet)

2-color indicator

Water resistant Made to Order

5
[
—

Water air cylinder solid state auto switch
[ 'R | NBR seal (Nitrile rubber) |
‘ \' ‘ FKM seal (Fluororubber) ‘ CJP
Specifications Dimensions cJ2
Action Double acting, Single rod
Bore size (mm) 40, 50, 63, 80, 100 * The dimensions are the same as the standard JCM
Cushion Air cushion double acting, single rod type. Refer to page
Auto switch mounting Tie-rod mounting 475 for details. cM2
XC68: Made of stainless steel
Made to Order (with hard chrome plated piston rod) CM3
+ Specifications other than the above are the same as the standard basic type.
Note 1) Excluding the air-hydro type and the type with a rod boot of the CA2 series. CG1

Note 2) Combination of auto switches and steel tube is not available.

For details, refer to page 1125.

Cylinder with Stable Lubrication Function (Lube-retainer)

CDA2 ‘ Mounting type H Bore size ‘ M —‘ Stroke ‘ zZ— ‘ Pivot bracket ‘ ‘ Rod end bracket ‘ -_

Auto switch

With auto switch
(Built-in magnet)

Cylinder with Stable Lubrication Function (Lube-retainer)

Specifications

Bore size (mm)

40, 50, 63, 80, 100

Action Double acting, Single rod
Minimum operating pressure 0.1 MPa
Piston speed 50 to 500 mm/s
Cushion Air cushion

= D: Available only for
with auto switch.

Hisse

(BN ¥]
(7 BIN "]
N || =

+ Specifications other than the above are the same as the standard type.

Dimensions (pimensions other than those shown below are the same as the standard type.)
—

(mm)
} 1 | 9 W }=H
- [R Bore size oe f
40 26 135
50 30 12.5
2 & © 63 30 125
80 36 16.5
100 42 16
__LH:M * The mounting dimensions of the mounting
Jﬁ:ﬂ“ bracket are the same as the standard type.
For details, refer to the Web Catalog. ‘ D_D

473



CA2 series

Construction

®

Component Parts Replacement Parts: Seal Kit
No. Description .Materlal : Note Bore size Kit no. Contents
1 |Rod cover Aluminum die-casted| Trivalent chromated (mm)
2 |Head cover Aluminum die-casted| Trivalent chromated 40 CA2-40Z-PS
3 | Cylinder tube Aluminum alloy Hard anodized 50 CA2-50Z-PS
4 | Piston rod Carbon steel Hard chrome plating 63 CA2-63Z-PS Sg %%‘th%n(?;'
5 |Piston Aluminum alloy 80 CA2-80Z-PS I
6 | Cushion ring Aluminum alloy Anodized 100 CA2-100Z-PS
7 |Cushion ring B Aluminum alloy Anodized « Seal kit includes (9, (6, (7, 19. Order the seal kit based on each bore size.
8 |Bushing Bearing alloy = Do no_t disassemble the trunnion type. Refer to page 525.
Stotwre | T o Sel e grasepack (440050 10,068 020 2,010 20 )
10 | Tie-rod Carbon steel | Trivalent zinc chromated Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
11 | Retaining ring Spring steel Phosphate coating
12 | Spring washer Steel wire Trivalent zinc chromated
13 | Tie-rod nut Rolled steel Trivalent zinc chromated
14 | Wear ring Resin
15 | Cushion seal Urethane
16 | Rod seal NBR
17 | Piston seal NBR
18 | Cushion valve seal NBR
19 | Cylinder tube gasket NBR
20 |Rod end nut Rolled steel Trivalent zinc chromated

474



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Basic: CA2B

2 x Cushion valve

When the stroke is 1001 mm or longer,
a tie-rod reinforcement ring is attached.

Width across flats KA S
MM
> > )
ula e =
- | 1 gk
° L L H
B1 AL
c A K RT
B F| LN N
H S + Stroke M
ZZ + Stroke
With rod boot
[
o
h+e¢
ZZ + ¢ + Stroke
(mm)
Bore size ]
(mm) A AL B B c 2 E F G H: J K | KA Wihout renforoement ing | With 1ing MM
40 30 27 60 | 22 44 16 32 10 15 8 M8 x 1.25 6 14 1 1 M14x 1.5
50 35 32 70 | 27 52 20 40 10 17 11 M8 x 1.25 7 18 11 12 M18x 1.5
63 35 32 85 | 27 64 20 40 10 17 11 | M10x 1.25 7 18 14 15 M18x 1.5
80 40 37 | 102 32 78 25 52 14 21 13 | M12x1.75 | 10 22 17 19 M22 x 1.5
100 40 37 | 116 | 41 92 30 52 14 21 16 | M12x1.75 | 10 26 17 19 M26 x 1.5
Bore size Without rod boot With rod boot
(mm) N P |RT |RY | S H zz d 8 f h ¢ zZ
fing | Wih 1ing Without With iing
40 27 1/4 30 64 84 | 51 146 146 56 43 | 11.2 | 59 1/4 stroke 154 154
50 30 3/8 30 76 90 | 58 159 160 64 52 | 11.2| 66 1/4 stroke 167 168
63 31 3/8 40 92 98 | 58 170 171 64 52 | 11.2| 66 1/4 stroke 178 179
80 37 12 45 112 | 116 | 71 204 206 76 65 | 125 | 80 1/4 stroke 213 215
100 40 12 50 136 | 126 | 72 215 217 76 65 | 14 81 1/4 stroke 224 226

Note 1) When a flange bracket is mounted on the head cover side of the basic type with bore size of 850 to 100 and stroke of 1001

loosen the tie-rod to adjust the M dimension. When head flange type is ordered, adjustment is not necessary.

mm or more, it is necessary to

Note 2) For models with bore size of 850 to 100 and stroke of 1001 mm or more, do not mount a flange bracket on the rod cover side of the basic type since H
dimension is different from those shown above. When rod flange type is used, order with the part number with bracket.

475

Rz K= IE=RIE=R 10Kz RIE R IK ]
S|l =|=20| <= | =
DWW = || D[N0 =

g s

(BN ¥]
(7 BIN "]
N || =



CA2 series

Axial Foot: CA2L

2 x Cushion valve

H G 2xP When the stroke is 1001 mm or longer,
a tie-rod reinforcement ring is attached.
A K P
B1 axd AL F
MM Hi 7 u.
G =
A a8 E o I
L o|lm wa I
> & J T E ai I = j@*
T 4xoLD
- g} G Width across ; H I 1 G:t: Lg
N ] flats KA
‘ ‘ . N RT N
LX - X S + Stroke X
c Y LS + Stroke Y
B ZZ + Stroke
With rod boot _
ol o
Ql @
=y
H)
|
T
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
B"([ﬁ w | A|AL| B |Bi|C|D|E|F|G|H J K |KA|LD |LH | LS | LT | LX | LY
40 30 27 60 | 22 44 16 32 10 15 8 M8 x 1.25 6 14 9 40 138 | 3.2 42 70
50 35 32 70 | 27 52 20 40 10 17 1" M8 x 1.25 7 18 9 45 144 | 3.2 50 80
63 35 32 85 | 27 64 20 40 10 17 11 M10 x 1.25 7 18 | 11.56| 50 | 166 | 3.2 | 59 93
80 40 37 | 102 | 32 78 25 52 14 21 13 | M12x1.75 | 10 22 | 135 | 65 | 204 | 45 | 76 | 116
100 40 37 [ 116 | 41 92 30 52 14 21 16 | M12x1.75 | 10 26 |185| 75 [ 212 | 6 92 | 133
Bore size Without rod boot With rod boot
(mm) (ALY - al S . e Y H | ZZ | d e f h ¢ zz
40 M14x1.5 27 1/4 84 | 27 13 30 64 | 51 175 | 56 43 [ 11.2] 59 1/4 stroke | 183
50 M18x1.5 30 | 3/8 90 | 27 13 30 76 | 58 | 188 | 64 52 | 11.2| 66 1/4 stroke | 196
63 M18x1.5 31 3/8 98 | 34 16 40 92 | 58 | 206 | 64 52 | 11.2 | 66 1/4 stroke | 214
80 M22x 1.5 37 12 | 116 | 44 16 45 112 7 247 | 76 65 | 12.5 | 80 1/4 stroke 256
100 M26 x 1.5 40 1/2 | 126 | 43 17 50 | 136 | 72 | 258 | 76 65 | 14.0 | 81 1/4 stroke | 267

476



Rod FIange: CA2F

Stroke of 1000 mm or less

Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

G 4xoFD 4xd
Width across flats KA
MM i H— N @ I/ N
L ) R & sy
of s @ olm
Width across flats B1 (= % (Z W
s Bt = \
AL
o]
A | N B
H S + Stroke M FX
ZZ + Stroke FZ
With rod boot
10.2 3
h+¢
ZZ + ¢ + Stroke
(mm)
B"([ﬁ r:')ze A|AL| B |Bi|C|D|E |FB|FD|FT|FV|FX|FY|FZ| G | Hi J K | KA
40 30 27 60 22 44 16 32 71 9 12 60 80 42 100 15 8 M8 x 1.25 6 14
50 35 32 70 | 27 52 20 40 81 9 12 70 90 | 50 | 110 | 17 11 M8 x 1.25 7 18
63 35 32 85 | 27 64 20 40 | 101 | 11.5] 15 86 | 105 | 59 | 130 | 17 11 | M10x 1.25 7 18
80 40 37 | 102 | 32 78 25 52 | 119 | 135| 18 | 102 | 130 | 76 | 160 | 21 13 | M12x1.75 | 10 22
100 40 37 | 116 | #1 92 30 52 | 133 | 135| 18 | 116 | 150 | 92 | 180 | 21 16 | M12x1.75 | 10 26
Bore size Without rod boot With rod boot *For installing an air cylinder,
(mm) M MM N P S H 7z *d e T h ¢ ZZ when a hole must be made to
accommodate the rod portion,
40 11 M14x 1.5 27 1/4 84 | 51 146 | 52 43 | 15 59 1/4 stroke | 154 make sure to machine a hole
50 11 | M18x15 | 30 | 3/8 | 90 | 58 | 159 | 58 | 52 | 15 | 66 | 1/4stoke | 167 that s larger than the outer
63 14 M18x 1.5 31 3/8 98 | 58 | 170 | 58 52 | 17.5| 66 1/4 stroke | 178 diameter of the boot mounting
80 17 M22 x 1.5 37 12 | 116 | 71 204 | 80 65 | 21.5| 80 1/4 stroke | 213 bracket od.
100 17 M26 x 1.5 40 1/2 | 126 | 72 | 215 | 80 65 | 21.5| 81 1/4 stroke | 224

(BN ¥]
(7 BIN "]
N || =



CA2 series

Rod FIange: CA2F

Stroke of 1001 mm or more

2xP 2 xCushion valve
When the s_troke is 1001‘ mm or longer,
Width across flats KA a tie-rod reinforcement ring is attached.
G 4xoFD 4xdJ
MM
e
Width flats B1 . - r% N
idth across flats i i 728
= L’:E —F
af T T »L( e JA o >
'SI | |l T \T’ r_ w| oo
I |
= L
H1 f 5 i K
L .
AL FT|_N RT N ‘ Cc ‘
A K B
H S + Stroke M FX
ZZ + Stroke FZ
With rod boot
)
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
B"([ﬁrﬁ')ze A|AL| B |Bi| C | D | E |FB|FD|FT |FX|FY|FZ| G | Hi J K |[KA| M
40 30 27 60 | 22 44 16 32 71 9 12 80 42 | 100 15 8 M8 x 1.25 6 14 1
50 35 32 70 | 27 52 20 40 88 9 20 | 120 58 | 144 17 1 M8 x 1.25 7 18 6
63 35 32 85 | 27 64 20 40 | 105 | 11.5| 23 | 140 64 | 170 | 17 11 | M10x1.25 7 18 10
80 40 37 | 102 | 32 78 25 52 | 124 | 135 | 28 | 164 84 | 198 | 21 18 | M12x1.75 | 10 22 12
100 40 37 [ 116 | #1 92 30 52 | 140 | 13.5| 29 | 180 | 100 | 220 | 21 16 | M12x1.75 | 10 26 12
Bore size Without rod boot With rod boot *For installing an air cylinder,
2 MM N P | RT |RY | S ey when a hole must be made to
(nin} H 2z & f h 2 zz accommodate the rod portion
40 M14x15 | 27 | 1/4 | 30 | 64 | 84 | 51 | 146 | 52 | 19 | 66 | i/dstroke | 162 ke sure to machine a hole
50 M18x15 | 30 | 3/8 | 30 | 76 | 90 | 67 | 163 | 52 | 19 | 66 | 1/4stoke | 162 that is larger than the outer
63 M18x1.5 | 31 | 3/8 | 40 92 | 98 | 71 | 179 | 52 19 | 66 | 1/4stroke | 174 diameter of the boot ge.
80 M22 x 1.5 37 12 45 112 | 116 | 87 | 215 | 65 21 80 1/4 stroke | 208
100 M26 x 1.5 40 1/2 50 | 136 | 126 | 89 | 227 | 65 21 81 1/4 stroke | 219

Note 1) For flange type with bore size of 940, the same flange bracket is used for all strokes.
Note 2) For models with bore size of 850 to 100 and stroke of 1001 mm or more, do not mount a flange bracket on the rod cover

side of the basic type since H dimension is different from those shown above. When rod flange type is used, order with the
part number with bracket.

478



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Head Flange: CA2G

Stroke of 1000 mm or less

5
[
—

(x]
C—
o

[y
G
N

[
()
=

[=)
=
~

oo
D=
=)

4xoFD B1 4xd G 2xP G
7 Width across flats KA 2 x Cushion valve
i A1
B0 EN MM Fﬂ’% I
pilie i SN =
m|>|> i@\ olm w| o e
[ “K / L S| oy 1 AT 1
= 76 M —
w (7)) Waxd ' =) I__(H
N H1 —Hl 1d
AL =7
C F N N
B A || K
FX H S + Stroke FT
FZ ZZ + Stroke
With rod boot
Tl o
Ql @
h+¢
ZZ + ¢ + Stroke
(mm)
B"([ﬁ ms')ze A|AL| B B |C|D|E|F |FB|FD|FT|FV|FX|FY|FZ| G | H J
40 30 | 27 60 | 22 | 44 | 16 | 32 | 10 71] 9 12 60 | 80 | 42 [ 100 | 15 8 | M8x1.25
50 35 | 32 70 | 27 | 52 | 20 | 40 | 10 81 [ 9 12 70 | 90 | 50 [ 110 | 17 [ 11 M8 x 1.25
63 35 32 85 27 64 20 40 10 101 [ 115 | 15 86 | 105 59 130 17 1" M10x 1.25
80 40 37 102 32 78 25 52 14 119 [ 185 | 18 102 | 130 76 160 21 13 M12 x 1.75
100 40 37 116 41 92 30 52 14 133 | 135 18 116 | 150 92 180 21 16 M12x1.75
Bore size Without rod boot With rod boot
(mm) - . A - R s H zz d e f h 4 Y44
40 6 14 M14x1.5 27 1/4 84 51 147 56 43 11.2 | 59 1/4 stroke 155
50 7 | 18 | M18x1.5 | 30 | 3/8 | 90 | 58 | 160 | 64 | 52 | 11.2 | 66 | 1/4stroke | 168
63 7 18 M18x 1.5 31 3/8 98 58 171 64 52 11.2 | 66 1/4 stroke 179
80 10 | 22 | M22x15 | 37 | 1/2 [ 116 | 71 [ 205 | 76 | 65 | 125 | 80 | 1/4stroke | 214
100 10 26 M26 x 1.5 40 12 | 126 72 216 76 65 14.0 | 81 1/4 stroke 225

g5

(5]
(7]
—

(5]
n
N



CA2 series

Head Flange: CA2G

Stroke of 1001 mm or more

2 x Cushion valve

4xoFD When the stroke is 1001 mm or longer,
Width across flats KA 2xP a tie-rod reinforcement ring is attached.
B1 4xJ
& 8.
: vy - g
SIOMEEE I\ epell 3
(SZBIN 8 ¥ _ > H
N7z e
m| > if ¥ olm wla I ®
[THRTS \{ KJ l Qf & W
Izl N i =
)OS o
L
H1
[ AL F RT N
B A N
FX H S + Stroke FT
Fz ZZ + Stroke
With rod boot
h+¢
ZZ + ¢ + Stroke
(mm)
B‘Z[: r:')ze A|AL| B B |C | D | E |FB|FD|FT |FX|FY |FZ| G | H J K | KA
40 30 27 60 22 44 16 30 71 9 12 80 42 100 15 8 M8 x 1.25 6 14
50 35 32 70 27 52 20 40 88 9 20 120 58 | 144 17 11 M8 x 1.25 7 18
63 35 32 85 27 64 20 40 105 | 115 23 140 64 | 170 17 1 M10x 1.25 7 18
80 40 37 102 32 78 25 52 124 | 135 28 164 84 | 198 21 13 M12x1.75 10 22
100 40 37 116 41 92 30 52 140 | 135 29 180 | 100 | 220 21 16 M12x1.75 10 26
Bore size Without rod boot With rod boot
(mm) KLY LY i - G || L H zz d e f h ¢ zz
40 M14x1.5 27 1/4 84 30 64 51 147 56 43 | 112 | 59 1/4 stroke 155
50 M18x1.5 30 3/8 90 30 76 58 168 64 52 | 112 | 66 1/4 stroke 176
63 M18x1.5 31 3/8 98 40 92 58 179 64 52 | 112 | 66 1/4 stroke 187
80 M22 x 1.5 37 1/2 116 45 112 71 215 76 65 125 80 1/4 stroke 224
100 M26 x 1.5 40 1/2 | 126 50 136 72 227 76 65 | 14 81 1/4 stroke 236

Note 1) For flange type with bore size of 40, the same flange bracket is used for all strokes.
Note 2) When a flange bracket is mounted on the head cover side of the basic type with bore size of 850 to 100 and stroke of 1001 mm or
more, it is necessary to loosen the tie-rod to adjust the M dimension. When head flange type is ordered, adjustment is not necessary.

480



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Single Clevis: CA2C

2 x Cushion valve When the stroke is 1001 mm or longer,

2xP a tie-rod reinforcement ring is attached.
Width across flats KA G G
e e 4
Y oCDH10 o xd
MM =0T T 1@7@\ @ J L 723
N\ rl E ) ©
g %1 g ﬁé @L 5 ; olm
=i L L _
Width across flats B1 H1 —] I LL@JB/ W 1 ( J\%\
AL [
A K RT N u cX|
F| |_N c
H S + Stroke L B
Z + Stroke RR
ZZ + Stroke
With rod boot
10.2 ¢
h+¢
2Z + ¢ + Stroke
(mm)
B‘ﬁ [:')ZE A|AL| B | B | C CD#1o cx D | E|F |G |H J K |KA| L
40 30 27 60 | 22 44 10%5:0%8 152 16 32 10 15 8 M8 x 1.25 6 14 30
50 35 | 32 70 [ 27 | 52 1273070 183, 20 [ 40 | 10 [ 17 | 11 [ M8x1.25 7 | 18 | 35
63 35 | 32 85 | 27 | 64 163070 257 20 | 40 [ 10 | 17 [ 11 | M10x125 7 | 18 | 40
80 40 | 37 [ 102 [ 32 | 78 20°3%% 31.531 25 | 52 | 14 [ 21 13 | M12x175 | 10 | 22 | 48
100 40 [ 37 [ 116 | 41 | 92 253084 35.5297 30 | 52 [ 14 | 21 | 16 | M12x175 | 10 | 26 | 58
Bore size Without rod boot With rod boot
(mm) Y X > 53 © v H z Y44 d e f h ¢ z 2z
40 M14x15 | 27 | 1/4 | 10 84 | 16 | 51 [ 165 | 175 | 56 | 43 [ 11.2 | 59 | 1/4stroke | 173 | 183
50 Mi18x1.5 | 30 | 3/8 | 12 90 | 19 | 58 | 183 [ 195 | 64 | 52 | 11.2 | 66 | 1/4stroke | 191 | 203
63 M18x1.5 | 31 | 3/8 | 16 98 | 23 | 58 | 196 | 212 | 64 | 52 | 11.2 | 66 | 1/4stroke | 204 | 220
80 M22x1.5 | 87 | 1/2 | 20 | 116 | 28 | 71 [ 235 | 255 | 76 | 65 | 125 | 80 | 1/4stroke | 244 | 264
100 M26x1.5 | 40 | 1/2 | 25 | 126 | 36 | 72 [ 256 | 281 [ 76 | 65 [ 14.0 | 81 1/4 stroke | 265 | 290

481

(BN ¥]
[ BIN7]
N || =



CA2 series

Double Clevis: CA2D

When the stroke is 1001 mm or longer,
a tie-rod reinforcement ring is attached.

2 x Cushion valve

o RR2
2xP
4(_;, Hole dia.: CDH10 4xd
Width across flats KA A Shaft dia.: CDd9
LN ==/ L
N > H
w|af ] A « J ; Bl ol
° mt I 2l Y ? = P |
=| : (= S %

Width across flats B1 Hi 1 i | [ji[j/

AL x|

A K RT N cz

F| N c
H S + Stroke L B
Z + Stroke RR1
ZZ + Stroke
With rod boot
T| o ]
Q| @
h+¢
ZZ + ¢ + Stroke
(mm)
B‘;:ﬁrﬁ')ze A |AL| B |Bi | C |CDio | CX |CZ| D | E | F | G | Hi J K |KA| L
40 30 | 27 60 | 22 | 44 | 10%%® | 15} 295] 16 | 32 [ 10 | 15 8 M8 x 1.25 6 | 14 [ 30
50 35 | 32 70 | 27 | 52 | 123 18} 38 20 | 40 | 10 | 17 | 11 M8 x 1.25 7 | 18 | 35
63 35 | 32 85 | 27 | 64 | 169 25 49 20 | 40 10 17 | 11 M10 x 1.25 7 18 40
80 40 | 37 | 102 | 32 | 78 | 209% | 31.513 | 61 25 | 52 | 14 | 21 13 | M12x1.75 | 10 | 22 | 48
100 40 | 37 | 116 | 41 92 | 25%% | 35583 | 64 30 | 52 | 14 | 21 16 | M12x1.75 | 10 | 26 | 58
Bore size Without rod boot With rod boot

(mm) MM N|P|RRRR| S | U g T Z 2z d[e [ f[h ¢ zZ [z
40 M14x1.5 | 27 | 1/4 | 10 [ 16 84 | 16 | 51 | 165 | 175 | 56 | 43 [ 11.2| 59 1/4 stroke | 173 | 183
50 M18x1.5 | 30 | 3/8 | 12 [ 19 90 | 19 [ 58 [ 183 | 195 [ 64 | 52 [11.2| 66 1/4 stroke | 191 | 203
63 M18x1.5 | 31 | 3/8 | 16 | 23 98 | 23 [ 58 [ 196 | 212 [ 64 | 52 [11.2]| 66 1/4 stroke | 204 | 220
80 M22x1.5 | 37 | 1/2 | 20 [28 [ 116 | 28 | 71 [ 235 [ 255 | 76 | 65 [ 12.5 | 80 1/4 stroke | 244 | 264
100 M26x1.5 | 40 | 1/2 | 25 [ 235 126 | 36 | 72 | 256 | 281 | 76 | 65 | 14.0 | 81 1/4 stroke | 265 | 290

* A clevis pin, flat washers and split pins are included.

482



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Center Trunnion: CA2T

Z + 1/2 stroke 2 x Cushion valve
B1 4x4d Width across
T X flats KA <} /“J
MM )
S8 — =
. — S =
S e (L o R e R wlef ] ﬁA 73
e el &
m I
H i
\ H1 = L]
(o AL
B A K T N
X F| N
TZ H S + Stroke
ZZ + Stroke
With rod boot
Z + ¢ + 1/2 stroke
“ F
Tl o
Ql @
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
B"(;‘j;')ze A|AL| B |B | C|D|E|F |G /|H J K | KA MM N|P|S
40 30 [ 27 [ 60 [ 22 [ 44 | 16 [ 32 [ 10 | 15 8 | M8x1.25 6 | 14 | M14x15 | 27 [ 1/4 | 84
50 35 [ 32 [ 70| 27 | 52 [ 20 [ 40 | 10 | 17 [ 11 | M8x1.25 7 | 18 M18x1.5 | 30 | 3/8 | 90
63 35 | 32 | 85| 27 | 64 | 20 | 40 | 10 | 17 [ 11 [ Mmiox125 | 7 | 18 M18x1.5 | 31 | 3/8 | 98
80 40 | 37 [ 102 | 382 | 78 | 25 | 52 | 14 | 21 | 13 | M12x1.75 | 10 | 22 M22x1.5 | 37 | 1/2 | 116
100 40 [ 37 [ 116 ] 41 | 92 [ 30 [ 52 [ 14 | 21 [ 16 [ M12x1.75 | 10 | 26 M26x1.5 | 40 | 1/2 [ 126
Bore size Without rod boot With rod boot
(mm) U T X W T2 iz ]zZd]e [ f]h ¢ Z [ 2z
40 15393 22 | 85| 62| 117 | 51 93 | 140 [ 56 | 43 [ 112 59 1/4 stroke | 101 | 148
50 152382 22 | 95 [ 74 [ 127 | 58 | 103 [ 154 | 64 | 52 [11.2 ] 66 /4 stroke | 111 | 162
63 182983 28 | 110 | 90 | 148 | 58 | 107 | 162 | 64 | 52 | 11.2 | 66 1/4 stroke 115 | 170
80 2529849 34 | 140 [ 110 [ 192 | 71 | 129 [ 194 | 76 | 65 [ 12.5 | 80 1/4 stroke | 138 | 203
100 25992 40 [ 162 | 130 | 214 | 72 | 135 [ 206 | 76 | 65 | 14.0 | 81 1/4stroke | 144 | 215

* Do not disassemble the trunnion type. Refer to page 525.

(]
(7]
—



CA2 series

Trunnion and Double Clevis Pivot Bracket

« Strength is the same as cylinder brackets.

Applicable Serie

S

Bore size

Bracket type Applicable series Description CA2(40 ‘ CA2(150 CA2(163 CA2(]80 ‘ CA2(1100
Trunnion pivot bracket CA2 Trunnion pivot bracket CA2-S04 CA2-S06 MB-S10
Double clevis pivot bracket CA2 Double clevis pivot bracket |  CA2-B04 ‘ CA2-B05 CA2-B06 CA2-B08 ‘ CA2-B10
= Please contact SMC at the time of mounting. * Order 2 trunnion pivot brackets per cylinder.
4xoTT
Trunnion pivot bracket TE ot
Material: Cast iron T0 X TO Z + 1/2 stroke

(mm)
Bore size
Part no. (@) TA | TL | TU | TC | TX | TE | TO | TR | TT | TS | TH | TF | TY Z |TD-H10 (Hole)
4 80 | 60 10 | 102 | 85 | 119 | 17 9 17 | 12 | 45 60 | 62 | 93 15 o
CA2-504 0 -
50 80 | 60 10 | 112 | 95 | 129 | 17 9 17 | 12 | 45 60 | 74 | 103 15 9o
CA2-S06 | 63 100 | 70 15 | 130 | 110 | 150 | 20 | 11 22 | 14 | 55 73 | 90 | 107 18 9
MB-S10 80 120 | 90 15 | 166 | 140 | 192 | 26 | 135 | 24 17 75 | 100 | 110 | 129 25 5%
100 | 120 | 90 15 | 188 | 162 | 214 | 26 | 135 | 24 | 17 | 75 | 100 | 130 | 135 25 g0
Double clevis pivot bracket
Material: Cast iron
Z + Stroke B
DX

Rotating Angle
Bore size (mm) | A° | B° A° + B° +90°
40t0 100 | 12° | 60° 162°
(mm)
Bore size
Part no. (mm) DA | DL | DU | DC | DX | DE | DO | DR | DT | DS | DH | DF B Z |DDH10 (Hole)
CA2-B04 | 40 57 | 35 | 1 65 | 15 85 | 10 9 17 8 40 | 52 60 | 165 10 9%
CA2-B05 | 50 57 | 35 | 11 65 | 18 85 | 10 9 17 8 40 | 52 70 | 183 12 9
CA2-B06 63 67 40 | 185 | 80 | 25 105 | 125 | 11 22 10 50 66 85 | 196 16 5
CA2-B08 | 80 93 | 60 | 165 | 100 | 31.5 | 130 | 15 135 | 24 12 65 | 90 | 102 | 235 20 g%
CA2-B10 | 100 93 | 60 | 165 | 100 | 355 | 130 | 15 135 | 24 12 65 | 90 | 116 | 256 255

484



CA_2 series
Dimensions of Accessories

Y Type Double Knuckle Joint

Shaft diameter: sNDwo Split pin Material: Cast iron (mm)
Hole diameter: 6NDo Flat washer: Polished round o4 1o l:);:ﬁgcsaislee A1lE1|D1| L1 MM |Ri|U1|ND| NX [NZ| L Spslii;sin FIaISvina;sher CJ'I
MM
7/ )
Y-04D| 40 |[22|24|10{55|Miax15 | 13|25 |12|16 53| 38 [s55| o3 x 18 L | FOIHe] CcJP
LE[ Ti él%‘ - Polished CJZ
] Y-05D| 50, 63 | 27 (28 14|60 | M18x 1.5 | 15|27 | 12|16 103 | 38 (555 03 x 18 | /7 100 |:
~ | T
% o Polished @
Ar Us Y-08D| 80 |37(36(18|71|M22x1.5|19|28|18|28107| 55 |76.5| 04 x25L | 0=
L1 - CMZ
Y-10D| 100 [37|40|21|83|M26x 15 |21|38|20(3013% | 61|83 [eaxaoL | FOuhed @
= A knuckle pin, split pins and flat washers are included. |:
Clevis Pin/Knuckle Pin c63
Material: Carbon steel (mm) JMB
Applicable bore size d | Included | Included
2xod n%"l e Clevis | Knuckle Ao L | &2 | @ Diltvough| ~ split pin | flat washer MB
i CDP-2A| 40 — 10552 | 46 | 38 | 4 3 | 08x18L |Poistedrond 0 |IB]
CDP-3A| 50 |40,50,63| 1225053 | 55.5 | 47.5| 4 | 3 | 3x18L |Poished round 12
L2 CDP-4A| 63 — 163383 | 71 | 61 | 5 | 4 | o4x25L |Polshedround 16 m
S & CDP-5A| — 80 |1825%53|765|665| 5 | 4 | o4x25L |Poishedround 18
CDP-6A| 80 100 |203%% | 83 | 73 | 5 4 | o4x30L |poisnedromzn |GS1
0.117
CDP-7A| 100 — 253% | 88 | 78 | 5 4 | 04x36L |Polishedround24 CS2
+ Split pins and flat washers are included.
| Type Single Knuckle Joint Rod End Nut (Standard)
=

oE1
=

'50‘7\. d
NDH10
UM \e5, & AN
aQ 3
S
|
i & Lul

Material: Free cutting sulfur steel (mm) Material: Rolled steel (mm)
Applicable Applicable

Part no.| i A A1 |E1|Li| MM |R1|Ui| NDuo | NX Part no. ey d H B o3 D

1-04A| 40 |69 [ 222455 |Mi4x15[155] 20 [12°3°7 | 16 9. NT-04 40 M14x1.5 8 22 25.4 21

1-05A| 50,63 | 74 [ 27 | 28 | 60 | M18x1.5|155] 20 [12*9°7° | 16 =5 NT-05| 50, 63 M18x 1.5 11 27 31.2 26

1-08A] 80 [91[37 36|71 |M2x15]225] 26 [18°9°7° |28 =5 NT-08 80 M22 x 1.5 13 32 37.0 31

I-10A| 100 [105] 37 | 40 | 83 | M26x15|245] 28 [20°3°%* | 30 5% NT-10 100 M26 x 1.5 16 41 47.3 39




Air Cylinder: Standard Type
Double Acting, Double Rod

CA2W series

240, 50, 263, 280, 3100

IMade to Order
For details, refer to
Sufflx (Cushion) the next page.

How to Order

With auto switch
(Built-in magnet)y  Double rod
Built-in Magnet Cylinder Model Mounting Bore size
It a built-in magnet cylinder |-B Basic 40| 40 mm A|r cushion & Number of auto
without an auto switch is required L Axial foot 50/ 50 mm N Rubber bumper Nil | 2pcs
) | F Rod flange 63| 63 mm 2
there is no need to enter the = " S 1 pc.
b I Rt el BT
* Mounting brackets other than center Ithout ro 00 -
(Example) CDA2WL40-100Z trunnion are shipped together. Oge J Nylon tarpaulin n__ |“n"pcs.
Tube material ® side 0 i .
L Port thread type K Heat resistant tarpaulin Auto switch
[ Nil_ Aluminum tube | - . Nil Without rod boot - p
Nil | Rc Cylinder stroke (mm)$ |Both — v Nylon tarpaulin [ Nil [Without auto switch]
i For detail: fer t id| = F licabl it itches,
* Not avaiable with auio i o or detalle reter 0[S0 [ KK [Featressant tarpauin] g e e e ot
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
k=3 Load voltage Auto switch model |Lead wire length (m) .
0 " Electrical |5 Wiring Pre-wired "
Type Special function g Tie-rod Band 05 |1[3|5 Applicable load
enty | §| ©ued) e AC | mounting | mounting | (i || ) | ) [
] MON = ® /0 O o
3- NPN
el : 5V, 12V — G59) e —0.0 o IC circuit
) ' M9P — e [e|le|O] O |
Grommet 3-wire (PNP) | 24V —_ — G5P e —lelo o)
M9B = ® /0 O O
2-wire 12V — K59 e —|e O 16} _
P Terminal 3-wire (NPN) 12V G39C G39 — === —
] conduit 2-wire K39C K39 — === =
H
7] . MONW = ® o o O o
.g Swire (NPN) 5V 12V = G59W ® —|®|O O |IC circuit Rel
: Diagnostic indication Yes| 3-wire (PNP) ! M9PW = e @ele|O [e) PeLEgY
s (2-color indicator) — G5PW ® —|0 0 o
0
M9BW = ® /0 O o
-} -
3 Zwie | agy | BV — | Ksow | @ [—|e@|O[ ©
Grommet 3-wire (NPN) 5V 12V MONA*! — C |O|@|O o _
Water resistant 3-wire (PNP) | MYPA*! = O |O|®|O o
(2-color indicator) i 12V M9BA*! — O |0O|®@|O o
© — [GsBA*| — |—|e|O] ©
With diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V F59F G59F ® —| 0|0 O IC circuit
Magnetic field resistant 2-wire _ P3DWA = e — o0 @] _
(2-color indicator) (Non-polar) P4DW = — | — e|® [e)
3-wire (NPNequiv)|  — 5V — A96 — o |—|o | — — |ICcircuit|] —
. L 100V | A93 — o o000 — —
£ Grommet |No| 100Vorkess|  A90 — ® |—[®/—| — [|Coirut|
3 [Yes| 0V, 20V A54 | B54 | @ |—|e|e| — pLC
2 No| e oay | 12V |20Voress] AG4 B64 o |—o —| —
= Terminal — A33C A33 — | —=|——] = _
] conduit A34C A34 — == — PLC
o
= DIN terminal ves 10V, 200V A44C A44 — | === = Relay,
Diagnostic indication (2-color indicator) | Grommet — — A59W B59W o |—| o — — PLC

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

A water-resistant type cylinder is recommended for use in an environment which requires water resistance.
* Lead wire length symbols: 0.5 m-- il (Example) MONW 3m- -- L (Example) MONWL

1m M (Example) MONWM 5 m-- + Z (Example) MONWZ
Solid state auto switches marked with “O” are produced upon receipt of order.
ince there are other applicable auto switches than listed above, refer to page 523 for details.
or details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A9C)/M9OIOICI/P3DWAL auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9L)/
M9OO0O before shipment.)

486




Air Cylinder: Standard Type
Double Acting, Double Rod

CA2W series

Specifications
————
Bore size (mm) 40 [ 50 [ 63 [ 8 [ 100
Fluid Air
Action Double acting
Proof pressure 1.5 MPa
Maximum op ing pressure 1.0 MPa ‘CJ1
Minimum operating pressure 0.08 MPa

Piston speed

50 to 500 mm/s

Ambient and
fluid temperature

Without auto switch: —10 to 70°C*

With auto switch

:—10 to 60°C*

CJP

Cushion Air cushion or Rubber bumper
Stroke length tolerance Up to 250 st: *T° 251 to 1000 st: 3%
Lubrication Not required (Non-lube)
Mounting Basic, Axial foot, Rod flange, Center trunnion

= No freezing

A

Standard Strokes cm2
—————————
Symbol (mm) | CM3
Y Bore size Standard stroke Note 1) Max.
Stroke range Stroke range @ stroke c G
[ | [ 40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, Up to 1000 1
350, 400, 450, 500 P
25, 50, 75, 100, 125, 150, 175, 200, 250, 300, cﬁs
Air cushion 50, 63 350, 400, 450, 500, 600 Up to 1200 Up to 1800
25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
80,100 | 350, 400, 450, 500, 600, 700 Up t0 1500 JVB
Note 1) Intermediate strokes not listed above are produced upon receipt of order.
Made to Made to Order Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylinders Model MB
Order , ; Selection” on front matter pages. In addition, the products that exceed the stroke range (D might not be able
Click here for details to fulfl the specifications due to the deflection etc. MB1
Symbol Specifications Note 3) Please consult with SMC for manufacturability and the part numbers when exceeding the stroke range ).
-XAD | Change of rod end shape Note 4) The stroke range with rod boot is 20 to 1400 mm. Please consult with SMC when exceeding 1400 mm strokes. m
-XB6 | Heat resistant cylinder (10 to 150°C .. N -
roststant eylinder ) ‘ Minimum Stroke for Auto Switch Mounting ‘
-XC3 | Special port location™ cs1
-XC4 | With heavy duty scraper c =
-XC5 | Heat resistant cylinder (-10 to 110°C) CaUtlon csz
XC7 | Tieod. cushion valve, The minimum stroke for mounting varies with the auto switch type and
tie-rod nut, etc. made of stainless steel cylinder mounting type. In particular, the center trunnion type needs
-XC14 | Change of trunnion bracket mounting position careful attention. (For details, refer to pages 521 and 522.)
-XC15 | Change of tie-rod length .
-XC22 | Fluororubber seal Rod Boot Material
-XC28 | Compact flange made of SS400
-XC35 | With coil scraper Symbol Rod boot material Max. ambient temperature
- J Nylon tarpaulin 70°C
-XC58 \éVa_:er ’iS'Sta"IV ) K Heat resistant tarpaulin 110°C*
uilt-in hard plastic magnet * Maximum ambient temperature for the rod boot
-XC59 Fluororubber seal/ .
Built-in hard plastic magnet™ Accessorles
-XC65 | Made of stainless steel (Combination of XC7 and XC68)
Made of stainless steel (with hard chrome Mounting Basic Foot Flange | Center trunnion
-XC88 | ted piston rod) Standard | Rod end nut ° D ° °
XC85 | G for food " " . Single knuckle joint ] [ ) ] []
3 rease for food processing equipmen Option [ Double knuckle joint (with pin) D D D D
For special port location (-XC3), the mounting bracket With rod boot L] L) L] L]
and port location can be determined using the standard = Refer to page 485 for part numbers and dimensions.
product corresponding to the operating conditions. . R
«The cover shape is the same as the currentproduct.  Weights/Aluminum Tube (Steel Tube)
—
For made of stainless steel (-XC6), use made of (kg)
stainless steel (with hard chrome plated piston rod) Bore size (mm) 40 | 50 | 63 | 80 [100
(-XC68) that the surface treatment is performed on Basi Aluminum tube | 0.92|1.38|1.86 | 3.32 | 4.55
the piston rod with the same specifications. asic Steeltube |0.97|1.44[1.96| 3.5 |4.83
Axial  |Aluminumtube | 1.11] 1.6 {2.19/3.99|5.54| Calculation:
Refer to pages 517 to 523 for cylinders with Basic foot Steeltube [1.16]1.66(2.29|4.17|5.82| (Example) CA2WL40-100
auto switches. weight Flange Aluminum tube | 1.29 | 1.83 |2.65 |4.77 | 6.47 (Axial foot, 40, 100 stroke)
- - - - Steeltube | 1.34(1.89]2.75/4.956.75| o Basic weight D-0
* Auto switch proper.mountlng. position (detection Trunmion Aluminum tube | 1.28 | 1.86 | 2.66 | 4.87 | 6.83 1.18 (Axial foot, 340) =
at stroke end) and its mounting height Steeltube |1.33/1.92|2.76|5.05|7.11| o Additional weight
* Operating range aional weigt er | Al mounting | Aluminum tube [ 0.28 [0.37 [0.44[0.66 | 0.86 0.98/50 stroke =X
« Minimum stroke for auto switch mounting Somalhke g"fd@‘i 2 Ste(:ll tube 322 8‘2‘; ggg 828 (1);2 o Cylinder stroke T
) ) R ingle knuckle . . . . . 100 stroke echinica
* Auto switch mounting brackets/Part no. p
9 N Double knuckle (with pin) | 0.37]0.43]0.43|0.87 | 1.27 1.18 + 0.28 x 100/50 = 1.74 kg Data

487 ®


http://www.smcworld.com/products/en/custom.do

CA2W series

Construction
———
79883 §9979 g
\
= - T T 1} J H}:n \ ; \ Y
J/ L
— =
13
» al fita
R AL
~ et L= > ~
g i I
® 10
Component Parts Replacement Parts: Seal Kit
No. Description Material Qty Note Bore size Kit no.
1 |Rod cover Aluminum die-casted| 2 | Trivalent chromated (mm) Pneumatic type ST
2 | Cylinder tube Aluminum alloy 1 Hard anodized 40 CA2W40Z-PS
3 | Piston rod Carbon steel 1 |Hard chrome plating 50 CA2W50Z-PS
4 |Piston Aluminum alloy | 1 63 CA2W63Z-PS
5 | Cushion ring Aluminum alloy | 2 Anodized 80 CA2W80Z-PS
6 |Bushing Bearing alloy 1 100 CA2W100Z-PS
7 | Cushion valve Steel wire 2 | Trivalent zinc chromated * Do not disassemble the trunnion type. Refer to page 525.
8 | Tie-rod Carbon steel 4 |Trivalent zinc chromated « Seal kit includes (2, (3, {4, (6. Order the seal kit based on each bore size.
9 IF ining ring Spring steel 2 | Phosphate coating + Seal kit i_ncludes agrease pack (240, 50: 10 g, 963, @80: 20 g, ra_100: 309).
Order with the following part number when only the grease pack is needed.
10 | Spring washer Steel wire 8 |Trivalent zinc chromated Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
11 | Tie-rod nut Rolled steel 8 | Trivalent zinc chromated
12 | Cushion seal Urethane 2
13 | Rod seal NBR 2
14 | Piston seal NBR 1
15 | Cushion valve seal NBR 2
16 | Cylinder tube gasket NBR 2
17 |Rod end nut Rolled steel 2 |Trivalent zinc chromated
18 | Magnet — (1)

488



Basic: CA2WB

Air Cylinder: Standard Type .
Double Acting, Double Rod CA2W Series

2 x Cushion valve When the stroke is 1001 mm or longer,

a tie-rod reinforcement ring is attached.

4xd Width across flats KA~ M M Width across flats KA
%ﬁ © =\ & L - on_
N > /N
Ir Y ol @ w of | = L afu cJP
A \&/ g al o :F ].J 4) |~ oy @
/LL{% S = =
ITIE = E= CJ2
! H1 ¥ H1
B1 AL AL
c A K RT K A JCM
B F| |_N N F
H S + Stroke H + Stroke cm2
ZZ + 2 x Stroke cm3
With rod boot (One side) |:
— €G3
ol o | IE . JMB
el @ =|
A — MB
10.2 ¢ f MB1
h+¢
ZZ + ¢ + Stroke m
When the stroke is 1001 mm or longer,
a tie-rod reinforcement ring is attached. CS1
With rod boot (Both sides;
—AE T Cs2
= x TENT -
| @ s (s
s e =| =|
E=1 } = - =
10.2 ¢ f 7RT77 f ¢ + Stroke 10.2
h+¢ S + Stroke h + ¢ + Stroke
ZZ + 2¢ + 2 x Stroke
(mm)
B"(;ﬁrﬁ')ze A|[AL| B |B | C|D|E|F |G |H J K | KA | M MM
40 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 6 14 11 M14x 1.5
50 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 7 18 11 M18x 1.5
63 35 32 85 27 64 20 40 10 17 ik M10 x 1.25 7 18 14 M18x 1.5
80 40 37 102 32 78 25 52 14 21 13 M12 x 1.75 10 22 17 M22 x 1.5
100 40 37 116 LAl 92 30 52 14 21 16 M12x1.75 10 26 17 M26 x 1.5
Bore size Without rod boot With rod boot (One side) (Both sides)
(mm) N | PIRTIRY | ST H]zZ[d el lt]h ‘ 2z | zz
40 27 1/4 30 64 84 51 186 56 43 1.2 59 1/4 stroke 194 202
50 30 3/8 30 76 90 58 206 64 52 11.2 66 1/4 stroke 214 222
63 31 3/8 40 92 98 58 214 64 52 1.2 66 1/4 stroke 222 230
80 37 12 45 112 116 71 258 76 65 12.5 80 1/4 stroke 267 276
100 40 12 50 136 126 72 270 76 65 14.0 81 1/4 stroke 279 288
D-O

489



CA2W series

Axial Foot: CA2WL

2xP

2 x Cushion valve

When the stroke is 1001 mm or longer,
a tie-rod reinforcement ring is attached.

H G
K_ . G H + Stroke
A j F K A
B1 4xd AL F AL
H1 H1
MM r —4 MM
© S
S = — > =
> ; i\ olm I.I.IDI I = 3 50 ] qu.l
&= k== R ol
T % &i =
= 2 Width across H | T 1H 4xoLD
flats KA — * Width across
N RT N '_T flats KA
[PRLLLEN B
LX X S + Stroke X
Cc Y LS + Stroke Y
B ZZ + 2 x Stroke
With rod boot
k1R
Q| @
=y
H)
|
T
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
B‘;[:rﬁ')ze A|[AL| B |B|[C|D|E|F|G]|H J K |KA|LD|LH|LS|LT|LX|LY
40 30 27 60 | 22 44 16 32 10 15 8 M8 x 1.25 6 14 9 40 | 138 | 3.2 | 42 70
50 35 32 70 | 27 52 20 40 10 17 11 M8 x 1.25 7 18 9 45 | 144 | 32 | 50 80
63 35 32 85 | 27 64 20 40 10 17 11 | M10x 1.25 7 18 | 11.5| 50 | 166 | 3.2 59 93
80 40 37 102 32 78 25 52 14 21 13 | M12x1.75 | 10 22 | 135| 65 | 204 | 4.5 76 116
100 40 37 116 41 92 30 52 14 21 16 | M12x1.75 | 10 26 |135| 75 | 212 | 6 92 133
Bore size Without rod boot With rod boot (One side) (Both sides)
(mm) MM | N | PIRTIRY| S | X | Y W zz[d e f][h ¢ [zz]zz
40 M14x1.5 27 1/4 30 64 84 27 13 51 186 56 43 | 11.2| 59 1/4 stroke | 194 | 202
50 M18 x 1.5 30 | 3/8 30 76 9 | 27 13 58 | 206 | 64 52 | 11.2 | 66 1/4 stroke | 214 | 222
63 M18 x 1.5 31 3/8 40 92 98 | 34 16 58 | 214 | 64 52 | 11.2| 66 1/4 stroke | 222 | 230
80 M22 x 1.5 37 1/2 45 | 112 | 116 | 44 16 7 258 | 76 65 | 12,5 | 80 1/4 stroke | 267 | 276
100 M26 x 1.5 40 12 50 | 136 | 126 | 43 17 72 | 270 | 76 65 | 14.0 | 81 1/4 stroke | 279 | 288

490



Air Cylinder: Standard Type .
Double Acting, Double Rod CA2W Series

Rod FIange: CA2WF

Stroke of 1000 mm or less

4 xoFD B1 4xd G M Width across
Width across flats KA flats KA cJ1
I
MJ e MM = Mm
& ©) ST = =L cJP
o >|> TSy olm nI | I N ] nIm
|| QK%# s w\a ‘F B0 T Sy e CJ2
m £y Width across CH - _[F5
A\ fas Bl =1 15—
Hi = H1 JCM
c AL FT F AL
c &[T Kl cM2
A N N A
FX
Fz H S + Stroke H + Stroke cM3
ZZ + 2 x Stroke |:
With rod boot @
Tl O M B
al @
] MB1
el | o
h+¢
ZZ + ¢ + Stroke CcS1
(mm)
B"(;‘j;')ze A|AL|B |Bi | C | D|E |FB|FD|FT|FV|FX|FY|FZ| G | Hi J K |KA| M
40 30 27 60 | 22 44 16 32 71 9 12 60 80 | 42 | 100 | 15 8 M8 x 1.25 6 14 11
50 35 32 70 | 27 52 20 40 81 9 12 70 90 | 50 | 110 | 17 11 M8 x 1.25 7 18 1
63 35 32 85 | 27 64 20 40 | 101 | 115] 15 86 | 1056 | 59 | 130 | 17 11 | M10x1.25 7 18 14
80 40 37 | 102 | 32 78 25 52 | 119 | 135 | 18 | 102 | 130 | 76 | 160 | 21 18 |[M12x1.75| 10 22 17
100 40 37 [ 116 | 41 92 30 52 | 133 | 135| 18 | 116 | 150 | 92 | 180 | 21 16 |[M12x1.75| 10 26 17
Bore size Without rod boot With rod boot (One side) Bosies) K For installing an air cylinder, when a
(mm) MM N P S H ZZ | *d e f h ¢ ZZ | ZZ hole must be made to accommodate
the rod portion, make sure to
40 M14x15 | 27 | 1/4 84 | 51 186 | 52 43 | 15 59 | 1/4 stroke | 194 | 202 machine a hole that is larger than
50 M18x1.5 | 30 | 3/8 | 90 | 58 | 206 | 58 | 52 | 15 | 66 | 1/4stroke | 214 | 222 the outer diameter of the boot
63 M18x 1.5 | 31 3/8 98 | 58 | 214 | 58 52 | 17.5| 66 1/4 stroke | 222 | 230 mounting bracket od.
80 M22x1.5 | 37 12 | 116 | 71 258 | 80 65 | 21.5| 80 1/4 stroke | 267 | 276
100 M26x 1.5 | 40 1/2 | 126 | 72 | 270 | 80 65 | 21.5| 81 1/4 stroke | 279 | 288
D-O]

491



CA2W series

Rod FIange: CA2WF

Stroke of 1001 mm or more

2xP

2 x Cushion valve

Width across When the stroke is 1001 mm or longer,
flats KA atie-rod reinforcement ring is attached.  \width across 4% oFD B1 4xd
G M flats KA
Width across Vv
flats B1 s 4 rr"Lﬂ:]%‘ = >51\\ 7 /f\
oM oE ==
& A W
oI [ & 1 0C ] DII.IJ m|> LAY olm
5 |1 A F H10 T 5)s| | W
g [ ‘ == B F\L DO
! 15— \
H1 2 H1
AL FT| N RT L IF AL c
A K N K A B
H2 S + Stroke H + Stroke FX
ZZ + 2 x Stroke FZ
With rod boot R
|
102 ¢ | f
h+¢
ZZ + ¢ + Stroke
(mm)
B‘ﬁnf')ze A|AL| B |[Bi|C | D | E |FB|FD|FT |FX|FY|FZ| G | Hi J K |[KA| M
40 30 27 60 | 22 44 16 32 7 9 12 80 42 | 100 15 8 M8 x 1.25 6 14 11
50 35 32 70 | 27 52 20 40 88 9 20 | 120 58 | 144 17 11 M8 x 1.25 7 18 6
63 35 32 85 | 27 64 20 40 | 105 | 11.5| 23 | 140 64 | 170 17 11 M10x 1.25 7 18 10
80 40 37 | 102 | 32 78 25 52 | 124 | 135 | 28 | 164 84 | 198 | 21 13 | M12x1.75 | 10 22 12
100 40 37 116 41 92 30 52 140 | 135 | 29 180 | 100 | 220 21 16 M12x1.75 | 10 26 12
Bore size Without rod boot With rod boot (One side) (Both sides)
(mm) MM | N|PIRTIRY| S W [M[zz]|d el f]h ¢ zz| zz
40 M14x1.5 27 1/4 30 76 84 | 51 51 186 | 52 43 15 59 1/4 stroke | 194 202
50 M18x 1.5 30 3/8 30 76 90 | 58 67 | 215 | 58 52 19 66 1/4 stroke | 214 222
63 M18x 1.5 31 3/8 40 92 98 | 58 7 227 | 58 52 19 66 1/4 stroke | 222 230
80 M22 x 1.5 37 1/2 45 | 112 | 116 | 71 87 | 274 | 80 65 21 80 1/4 stroke | 266 276
100 M26 x 1.5 40 12 50 | 136 | 126 | 72 89 | 287 | 80 65 21 81 1/4 stroke | 279 288

Note 1) For flange type with bore size of 40, the same bracket is used for all strokes.
Note 2) For models with bore size of 850 to 100 and stroke of 1001 mm or more, do not mount a flange bracket on basic cylinders since H dimension is
different from those shown above. When rod flange type is used, order with the part number with bracket.

492




Air Cylinder: Standard Type .
Double Acting, Double Rod CA2W Series

Center Trunnion: CA2WT

Z + 1/2 stroke

2 x Cushion valve
B Width & Width across CJ1
1 4xd cth across G, flats KA
‘ MM | fiats KA as
o) N
IR e CJP
°r ENEN R
x| RO o o T e o @)+ CJ2
= = N
D) I o Jcm
H1 ——
c AL N LTT CM2
B K N
X A | IF cM3
TZ H S + Stroke H + Stroke
ZZ + 2 x Stroke CG-I
With rod boot @
3 mB
el @
MB1
ZZ + ¢ + Stroke CS1
(mm)
B"([ﬁ;')ze A|AL| B |B |C|D|E|F|G]|H J K |[KA| MM N|P|S TDes
40 30 | 27 60 | 22 | 44 | 16 | 32 | 10 | 15 8 | M8x1.25 6 | 14 | M14x15 | 27 | 1/4 | 84 159532
50 35 | 82 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 11 | M8x1.25 | 7 | 18 | M18x1.5 | 30 | 3/8 | 90 | 15983
63 35 | 32 | 8 | 27 | 64 | 20 | 40 | 10 | 17 | 11 [M10x125| 7 | 18 | M18x15 | 31 | 3/8 | 98| 18358
80 40 | 37 [102 | 32 | 78 | 25 | 52 | 14 | 21 | 13 [M12x1.75]| 10 | 22 | M22x1.5 | 37 | 1/2 | 116 | 250%%
100 40 | 37 [116 ] 41 | 92 | 30 | 52 | 14 | 21 | 16 [M12x1.75]| 10 | 26 | M26x1.5 | 40 | 1/2 | 126 | 2500%%
Bore size Without rod boot With rod boot (One side) (Both sides)
om | T TXITY T2 i Tz zz[d e f[h ¢ Zlzz| z |2z
40 22 | 85| 62 [117 | 51 | 93 | 186 | 56 | 43 [11.2| 59 | 1/4stroke | 101 | 194 | 101 | 202
50 22 | 95| 74 [127 | 58 | 103 | 206 | 64 | 52 [11.2| 66 | 1/4stroke | 111 | 214 | 111 | 222
63 28 | 110 | 90 [ 148 | 58 | 107 | 214 | 64 | 52 | 11.2| 66 | 1/4stroke | 115 | 222 | 115 | 230
80 34 | 140 [ 110 [ 192 | 71 | 129 | 258 | 76 | 65 |12.5| 80 | 1/4stroke | 138 | 267 | 138 | 276
100 40 | 162 [ 130 [214 | 72 | 135 | 270 | 76 | 65 [14.0| 81 | 1/4stroke | 144 | 279 | 144 | 288
+ Do not disassemble the trunnion type. Refer to page 525.
D-(1

493



Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod

CAZ2K Series

240, 050, 063

How to Order

] CA2K|L||40| —|2oo| -
MCDA2K|L||40| —|2oo| -moBWI |-[ |

With auto SWltCh Port thread type Suffix (Cushion
(Built-in magnet) Mountin yp ( - - ) Number of
g9 Nil | Re [ Nil | Aircushion | auto switches
Non-rotating rod B Basic TN | NPT [N [Without cushion| Nil | 2pcs.
IE F:‘Xff'l foot TEEl 6 Suffix (Rod boot) S [ fpe
. . od flange . T 3 3 pcs.
Built-in Magnet Cylinder Model [ G | Head flange Bore size NI None | o
- - J Nylon tarpaulin n n_pcs.
— - 40 | 40mm ! P
If a built-in magnet cylinder | € | Single clevis K 1h 0 n
: P ] i 50| 50 mm leat resistant tarpaulin
without an auto switch is required, | D | Double clevis &l & Made to Order
there is no need to enter the | T | Center trunnion mm Auto switch For details, refer
symbol for the auto switch. Cylinder stroke (mm) [ Nil _[without auto switch] to the next page.
(Example) CDA2KL40-100 For details, refer to the next page. * For applicable auto switches, refer to the table below.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
° Electrical | £ Wiring Load voltage Auto switch model | Lead wire length (m) Prowired | Applicable
= Special function % Tie-rod Band 05| 1 3|5 -
= entry £ (Output) DC AC mounting | mounting | (N | ()| (L) | @) connector load
3-wire M9N = ® | @@ O o
(NPN) 5V, — | G59 @ |—|@|O]| O -
- IC circuit|
Grommet 3-wire 2y 12v _ M9P = [ K 2K 2Ke) O
(PNP) — G5P |e |—|®@|/O0| O
. M9B = ® & @ O o
2-wire 12V — K59 ° ® 0 o) _
= Terminal 3-wire (NPN) 12v G39C | G39 | — |—|—|— —
s conduit 2-wire K39C | K39 | — [—|—|— —
a 3-wire MONW| — (e [@e[@[O] O
2 (NPN) 5V, — [Gsow | @ [—[e@[O[ O [icairut
: Diagnostic indication Yes 3-wire 12v M9PW = ® | ®|/® O o Peng,
s (2-color indicator) (PNP) — |G5PW | @ |—|@|O o
g L1
. M9BW = ® | &/ O o
] X
3 2w laqv|V] _ [T = [keow| e |—|e|O| ©
Grommet 3-wire (NPN) 5V, MONA*1|  — O|0|®@|O o _
Water resistant 3-wire (PNP) 12V MOPA*| — ololelol o
(2-color indicator) -wire 12V M9BA*!'| — O|0|®@|O o
— |G5BA*!| — @ O o
With diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V F59F | G59F | @ |— @ | O e) IC circuit|
Magnetic field resistant 2-wire _ P3DWA| — o —| 0o e o _
(2-color indicator) (Non-polar) PADW | — — ) 6)
Ves NPy | = sV | — | A | — |e|—|e|[—| — |Ccreut| —
f, Grommet 100 Vv A93 = [ K 2K 3K ) — —
H No 100Vorless) A90 — o | —| e — — |IC circuit Rela
g — Yes 10v,200y] A54 | B54 | @ |—|®@|®| — pLC
= No . 12V [200Vorless| A64 B64 @ |— @ | — —
s 2- 24V
2 Terminal e — |AC| A33 | — |—|—|—| —
Q . —
[ conduit A34C | A34 | — |— — PLC
DIN terminall ' 10V.20Vpgac [ Add | — |—|—|—| — Relay,
Diagnostic indication (2-color indicator) | Grommet — — A59W B59W | @ |— | @ | — — PLC

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
* Lead wire length symbols: 0.5 m-- Nil  (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
im M (Example) MONWM
L  (Example) MONWL
- Z (Example) MONWZ
* Since there are other applicable auto switches than listed above, refer to page 523 for details.
or details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A90]/M9IOICI/P3DWAL auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9C)/
M9OOO before shipment.)

494




Non-rotating accuracy: +0.8°
Same mounting dimensions as
those of standard cylinder

Symbol
Air cushion

Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod

CAZ2K series

Specifications
Bore size (mm) 40 50 63
Fluid Air
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa
. . Without auto switch: =10 to 70°C*
Ambient and fluid temperature With auto switch - —10 to 60°C*
Piston speed 50 to 500 mm/s
Cushion Air cushion
Stroke length tolerance Up to 250 st:"5°, 251 to 600 st: *6*
Rod non-rotating accuracy +0.8°
Allowable rotational torque 0.44 N-m or less
Lubrication Not required (Non-lube)
Mounting Basic, Axi.al foot, Rod ﬂa.nge, Head ﬂange
Single clevis, Double clevis, Center trunnion

+ No freezing

In case of a type with auto switch, also refer to the table of minimum
Standard Strokesisirokes for auto switch mounting on pages 521 and 522.
——————————

o
G
pry

(x]
C—
-}

[=)
=
~

o
=
)

[}
D
-

[
D
wW

(mm)
Bore size Standard stroke
40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500*
50, 63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600*

* Intermediate strokes not listed above are also available.
Please consult with SMC for longer strokes than the strokes marked with “+”.

Weights
——
Made 10 (kg)
order | Made to Order Bore size (mm) 40 50 63
Click here for details Basic 0.88 132 1.91
Symbol Specifications Axial foot 1.07 1.54 2.25
-XALJ | Change of rod end shape Basic weight Flange 1.25 177 2.70
_xc7 | Tie-rod; cushion valve, tie-rod nut, ete. Single clevis 1.1 1.66 254
made of stainless steel Double clevis 1.15 1.75 2.70
XC8 Adjustable stroke cylinder/Adjustable Trunnion 1.24 1.80 27
extension type Additional weight per 50 mm of stroke 0.20 0.25 0.30
i i i Single knuckle 0.23 0.26 0.26
_Xco Adjuslgble stroke cylinder/Adjustable Accessories 9 . .
retraction type Double knuckle (with pin) 0.37 0.43 0.43
-XC10 | Dual stroke cylinder/Double rod type Calculation: (Example) CA2KL40-100
-XC11 | Dual stroke cylinder/Single rod type © Basic weight-----------1.07 (Axial foot, 240)
-XC14 | Change of trunnion bracket mounting position ° Adqmonal weight.--- 0.20/50 stroke
- ® Cylinder stroke ------ 100 stroke
-XC15 | Change of tie-rod length 1.07 + 0.20 x 100/50 = 1.47 kg
Double clevis and double knuckle joint pins
-XCc27 .
made of stainless steel
-XC28 | Compact flange made of SS400 Rod Boot Material
Symbol Rod boot material Max. ambient temperature
Refer to pages 517 to 523 for cylinders with J Nylon tarpaulin 70°C
auto switches. K Heat resistant tarpaulin 110°C*

* Auto switch proper mounting position (detection
at stroke end) and its mounting height

* Operating range

* Minimum stroke for auto switch mounting

 Auto switch mounting brackets/Part no.

* Maximum ambient temperature for the rod boot itself.

‘ Minimum Stroke for Auto Switch Mounting ‘

A\ Caution

(5]
(7]
—

(5]
n
N

tEEH

D-O

1. The minimum stroke for mounting varies with the auto switch type |-X[]
and cylinder mounting type. In particular, the center trunnion type
needs careful attention. (For details, refer to pages 521 and 522.)

495 ®

Technical
Data


http://www.smcworld.com/products/en/custom.do

CAZ2K series

| A Precautions |

1 Be sure to read this before handling the products. Refer to back page 50 for Safety Instructions and pages 3 to 12 for

1 Actuator and Auto Switch Precautions.

- e e e e e e R e e e e e e e R e e e e e e e e e e e e e ]

\ Handling \ \ Disassembly/Replacement

/\ Caution /\ Caution

1. Avoid applications in which rotational torque is applied to the 1. Please consult with SMC when the rod seal is to be replaced.
piston rod. A rod seal may allow air leakage depending on the position where it

If rotational torque is applied, the non-rotating guide will be
deformed, resulting in a loss of non-rotating accuracy. Also, to
screw a bracket or a nut onto the threaded portion at the end of the
piston rod, make sure that the piston rod is fully retracted, and
place a wrench on the parallel section of the rod that protrudes.

To tighten, take precautions to prevent the tightening torque from
being applied to the non-rotating guide.

Construction

is installed. Therefore, please consult with SMC when a rod seal is
1 to be replaced.

3 2. Do not replace the non-rotating guide.

' Since the non-rotating guide is press fitted, the entire cover
assembly needs be replaced instead of a single part.

fw

g
& 1

A-A' Piston rod section

Component Parts

Z
A
!

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy Metallic painted 17 | Cushion seal holder Aluminum alloy
2 | Head cover Aluminum die-casted Metallic painted 18 | Cushion seal Urethane
3 | Cylinder tube Aluminum alloy Hard anodized 19 | Rod seal NBR
4 | Piston rod Carbon steel Hard chrome plating 20 | Piston seal NBR
5 | Piston Aluminum alloy Chromated 21 | Cushion valve seal NBR
6 | Cushion ring A Rolled steel Zinc chromated 22 | Cylinder tube gasket NBR
7 | Cushionring B Rolled steel Zinc chromated 23 | Piston gasket NBR O-ring
8 | Non-rotating guide | Oi-impregnated sintered alloy 24 | Rod end nut Rolled steel Trivalent zinc chromated
9 | Cushion valve Steel wire Trivalent zinc chromated .
10 | Tie-rod Carbon steel Trivalent zinc chromated Replacement Parts: Seal Kit
11 | Spring washer Steel wire Trivalent zinc chromated Bore size (mm) Kit no. Contents
12 | Piston nut Rolled steel Trivalent zinc chromated 40 CA2K40-PS . .
13 | Retaining ring Spring steel Phosphate coating 50 CA2K50-PS Set of the nos. (8, 9, @, @.
14 | Spring washer Steel wire Trivalent zinc chromated 63 _ QA?KSSi{:’S
15 | Tie-rod nut Rolled steel Trivalent zinc chromated . giart:tittjii'g;‘::;g&é ‘E’é aig%ﬁ%ygg;ﬁ: tie;;;g t;g?d on each bore size.
16 | Wear ring Resin + Seal kit includes a grease pack (240, 250: 10 g, over 863: 20 g).

496

Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)



Basic: CA2KB

Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod

CAZ2K series

2xP
(Rc, NPT, G)
Width across flats KA el 2 x Cushion valve S axd
Width across flats B1 1 m
— | t LiH—)
o T %@r & @&
w ni o] é
Q| B —
— i E% ;fﬁ”
MM/ | Hy = 1 3 (
AL
Cc
A N N B
H S + Stroke M
ZZ + Stroke
With rod boot
=
J o =Freelll ]
’
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
Bore size | Stroke range (mm)
A |AL| B | B Cc D E F G | H J KA | M MM

(mm) | Without rod boot | With rod boot ! !

40 Up to 500 | 20 to 500 | 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 14 11 M14x1.5

50 Up to 600 | 20 to 600 | 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 18 11 M18x 1.5

63 Up to 600 | 20 to 600 | 35 32 85 27 64 20 40 10 17 " M10x 1.25 18 14 M18x 1.5

Bore size N P s Without rod boot With rod boot

(mm) H |ZZ | d e f h ¢ zz

40 27 1/4 84 51 146 | 56 43 [11.2| 59 1/4 stroke | 154

50 30 | 3/8 | 90 58 | 159 | 64 52 | 11.2| 66 1/4 stroke | 167

63 31 3/8 | 98 58 | 170 | 64 52 | 11.2| 66 1/4 stroke | 178

The dimensions for each mounting type and the dimensions of accessories (options) are the same as the standard double acting single rod model. Refer to pages 476 to 485.

5
[
—t

ol
DI &= &
|| @ NSV

gisse

[ BIN¥]
[ BIN "]
N || =



Air Cylinder: Non-rotating Rod Type
Double Acting, Double Rod

CA2KW series

240, 050, 063

With auto swnch
(Built-in magnet)

How to Order

IMade to Order

Port thread Auto switch For details, refer to the
Non-rotating rod B Basic yES [Nil_[withoutauto swich] | "*'P*9°
L Axial foot I Rc + For applicable auto switches,
Double rod type F Rod flange TN | NPT refer to the table below. Number_Of
G Head flange TF | G auto switches
9 Suffix (Cushion) Nil | 2 pos.
T | Center trunnion - -
N _ Boresize | [N | Arcusnion | s | im
Built-in Magnet Cylinder Model 20 [ 40 mm |_N__|Without cushion | 3 | 3pcs.
If a built-in magnet cylinder without an auto switch is required, 50 |50 mm . n_ [*n"pes.
there is no need to enter the symbol for the auto switch. 63 |63 mm g¥ggg§rr:fte:?g‘;e($$)a o
(Example) CDA2KWL40-100 g page.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
e =3 o Load voltage Auto switch model | Lead wire length (m) - Jro—
i " ectrical s irng - Te-Wire pplicable
Type Special function g Tie-rod Band 05| 1|3 |5
enty | §| (Oueud o~ AC | mounting | mounting | (Ni) | (M) | (L) | Z) | foad
3-wire M9N = ® e e O [e)
(NPN) 5V, — | Gs9 (e [—|@]0O] O .
- IC circuit
Grommet 3-wire 24V 12V _ M9P — |@e|®@|/®@|/O| O
(PNP) — |G5P [@|—[e@[O] ©
. M9B — ® e @ O [e]
2-wire 12V — K59 |e@ —|e o ° _
a Terminal 3-wire (NPN) 12V G39C | G39 | — |—|—|— —
S conduit 2-wire K39C | K39 | — |—|—|—| —
a 3-wire MONW| — |e|e|e|O] O
g (NPN) 5V, — |Gsow[e [ —[e O] O |caraut|
o Diagnostic indication Yes|  3-wire 12V M9PW | — [ 2K 2K 2K} o F?Legy
2 ol (PNP) — —
k] (2-color indicator) G5PW| @ ® O [e)
13
. M9BW | — ® e 0 O (o)
h=} -
s e Joqv| V| _ [ — [Keow|e|—|e@|0| O
Grommet 3-wire (NPN) 5V, MINA*!| — O|0O|®@| O [e) _
Water resistant 3-wire (PNP) 12V M9PA*!| — O|0O|®@|O O
(2-color indicator) o wi 12v M9BA*!| — O|O|®@|O o
wre — |GsBA*| — [—|@]|O] O
With diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V F59F |[G59F (@ |— | @ | O O |ICcircuit
Magnetic field resistant 2-wire _ P3DWA [ Bk 2K ] [e) _
(2-color indicator) (Non-polar) PADW| — |— | — | e|e®| O
Yes (NP?\]Vga?Aiv.) — 5V J— A9%6 — o — o — — |ICcircuit| —
K Grommet 100V | A93 — e ®e0| @ —
E No 100Vorless| A90 = ®|—|® | —| — |ICcircuit Rela
o — Yes 0v,207] A54 | B54 |@ [— @@ e
= No . 12V |200Vorless) A64 | B64 (@ |— | @ | —| —
© 2- 24V
3 Terminal wre — [AssC | A38 |—[—|—|—| — | _
[ conduit A34C | A34 | — |—|—|—| — PLC
100V, 200 V'
DIN terminal| ' ° 00V, 200 Ad4C | A4 | — |—|—|—| — Relay,
Diagnostic indication (2-color indicator) | Grommet — A59W |B59wW (@ | — | @ | —| — PLC

*1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m--:
im

3m
5m:-

Nil

=z

(Example) MONW

(Example) MONWM
(Example) MONWL
- Z (Example) MONWZ

* Since there are other applicable auto switches than listed above, refer to page 523 for details.
* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A9L)/MODITICI/P3DWALI auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9LY/

M9DOO before shipment.)

498

+ Solid state auto switches marked with “O” are produced upon receipt of order.




Non-rotating accuracy: +0.8°

Same mounting dimensions as
those of standard cylinder

Symbol

Made to Order
Click here for details

Symbol

Specifications

-XC7

Tie-rod, cushion valve, tie-rod nut, etc.
made of stainless steel

-XC14

Change of trunnion bracket mounting position

-XC15

Change of tie-rod length

-XC28

Compact flange made of SS400

Refer to pages 517 to 523 for cylinders with
auto switches.

* Auto switch proper mounting position (detection
at stroke end) and its mounting height

* Operating range

* Minimum stroke for auto switch mounting

« Auto switch mounting brackets/Part no.

Air Cylinder: Non-rotating Rod Type .
Double Acting, Double Rod CAZKW Series

Specifications
Bore size (mm) 40 50 63
Fluid Air
Proof pressure 1.5 MPa
operating pressure 1.0 MPa CJ-'
operating pressure 0.08 MPa
Without auto switch: 10 to 70°C* CJP

Ambient and fluid temperature With auto switch

:-10 to 60°C*

Piston speed 50 to 500 mm/s

Cushion Air cushion

Stroke length tolerance Up to 250 st:*5°, 251 to 600 st: "o

Rod non-rotating accuracy +0.8°

Allowable rotational torque 0.44 N-m or less CMZ

Lubrication Not required (Non-lube)

. Basic, Axial foot, Rod flange, CM3

Mounting Head flange, Center trunnion

# No freezing CG1
In case of a type with auto switch, also refer to the table of minimum

Standard Strokesistrokes for auto switch mounting on pages 521 and 522. CG3
————————

(mm)
Bore size Standard stroke
40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500*
50, 63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600*

* Intermediate strokes not listed above are also available.

Please consult with SMC for longer strokes than the strokes marked with “+”.

Weights/Aluminum Tube

(ko)

Bore size (mm) 40 50 63

Basic 1.01 1.54 217

. . Axial foot 1.20 1.76 2.50
Basic weight

Flange 1.38 1.99 2.96

Trunnion 1.37 2.02 2.97

Additional weight per 50 mm of stroke 0.27 0.36 0.42

Accessorie [single knuckle 0.23 0.26 0.26

|Double knuckle (with pin)|  0.37 0.43 0.43

Calculation: (Example) CA2KWL40-100
® Basic weight- -+-1.20 (Axial foot, 240)
© Additional weight---- 0.27/50 stroke
® Cylinder stroke ----- 100 stroke
1.20 + 0.27 x 100/50 = 1.74 kg

Production of Types with Rod Boot

gziss

(BN ¥]
(7 BIN "]
N || =

‘ CA2KW series is also available with rod boot. Please consult with SMC for more information.

‘ Minimum Stroke for Auto Switch Mounting

A\ Caution

1. The minimum stroke for mounting varies with the auto switch type
and cylinder mounting type. In particular, the center trunnion type
needs careful attention. (For details, refer to pages 521 and 522.)


http://www.smcworld.com/products/en/custom.do

CA2KW series

Construction

Wy

1

!
&%
&

Piston rod section

)
W

14
Component Parts
No. Description Material Note
1 | Rod cover A Aluminum alloy Metallic painted
2 | Rod cover B Aluminum die-casted Metallic painted
3 | Cylinder tube Aluminum alloy Hard anodized
4 | Pistonrod A Carbon steel Hard chrome plating
5 | Pistonrod B Carbon steel Hard chrome plating
6 | Piston Aluminum alloy Chromated
7 | Cushion ring Rolled steel Zinc chromated
8 | Non-rotating guide |Oil sintered alloy
9 | Bushing Bearing alloy
10 | Cushion valve Steel wire Trivalent zinc chromated
11 | Tie-rod Carbon steel Trivalent zinc chromated
12 | F ining ring Spring steel Phosphate coating
13 | Spring washer Steel wire Trivalent zinc chromated
14 | Tie-rod nut Rolled steel Trivalent zinc chromated
15 | Cushion seal holder Aluminum alloy
16 | Cushion seal Urethane
17 | Rod seal A NBR
18 | Rod seal B NBR
19 | Piston seal NBR
20 | Cushion valve seal NBR
21 | Cylinder tube gasket NBR
22 | Piston gasket NBR O-ring
23 | Rod end nut Rolled steel Trivalent zinc chromated

500

Replacement Parts: Seal Kit

g
N

Bore size (mm) Kit no. Contents
40 CA2KW40-PS setofth ®.©
et of the nos. @, {2,
50 CA2KW50-PS @, 49, 20,
63 CA2KW63-PS

« Seal kit includes (), (7, (8,

size.

, and 2. Order the seal kit based on each bore

+ Do not disassemble the trunnion type. Refer to page 525.

* Seal kit includes a grease pack (240, 850: 10 g, 63, @80: 20 g, 100: 30 g).
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)



Air Cylinder: Non-rotating Rod Type .
Double Acting, Double Rod CAZKW Series

Basic: CA2KWB

2xP
(Re, NPT, G)
Width across flats KA MG 2 x Cushion valve G M Width across flats KA 4xd
MM o T — MM @7
= s o ot
rwarmmel 5 — %% CJ1
I'g %I t g j% g\( %i I.Ié Q\/ﬂ CJP
— | —
H1 —1 T — H1 XYIIY( c JZ
AL AL Bi
A FI_N N |F K A
Cc
H S + Stroke H + Stroke B JCM
ZZ + 2 strokes |:
cM2
(mm) |CM3
Bore size (mm) | Strokerange(mm)| A |AL| B |B1| C | D | E | F | G | Hi J K |[KA| M MM N|P|S|H|Zz CG 1
40 Upto500 | 30 |27 |60 |22 | 44 |16 | 32 | 10 | 15 8 |M8x125| 6 |14 | 11 | M14x15 | 27 |1/4| 84 | 51 | 186
50 Upto600 |35 |32 |70 |27 |52 |20 |40 | 10 | 17 | 11 ([M8x125| 7 |18 | 11 | M18x1.5 | 30 | 3/8| 90 | 58 | 206 CG
63 Up to 600 35|32 |85 |27 |64|20 |40 | 10 [ 17 | 11 |MI0x125| 7 | 18 | 14 | M18x 1.5 | 31 | 3/8 | 98 | 58 | 214 3

The dimensions for each mounting type are the same as the standard double acting double rod model. Refer to pages 490 to 493. For details about accessories (options), refer to page 485. ‘

[
=
(-~}

g

=
=
—

[ BIN¥]
[ BIN "]
N || =



Air Cylinder: With End Lock

CBA?2 series

240, 050, 063, 80, 3100

ILock position

How to Order

With auto switch 1
(Built-in magnet) Cylinder stroke (mm)
Mounting ] E:;:emwls refer to the next Head end lock Number of auto
B Basic Tube material n Rod end lock switches
L Axial foot [ Nil_] Aluminum tube | Port thread type W | Double end lock Nil | 2 pes.
F Rod flange F* Steel tube Nil Rc Manual rel S 1 pc.
G Head flange + Not available with auto TN | NPT X . — n_ [“n"pcs.
[oF Single clevis switch. TF G l Suffix (Cyshlqn) [ N_]Non-locking type
D Double clevis B R .Iﬂ. Locking type
T Center trunnion ore size “ Auto switch
il R 40| 40 mm )
Built-in Magnet Cylinder Model 50| 50 mm Suffix (Rod boot) [ Nil_[Without auto switch]
If a built-in magnet cylinder without an auto switch is required, 63| 63 mm Nil Without rod boot * For applicable auto switches, refer to the table below.
there is no need to enter the symbol for the auto switch. 80| 80mm J Nylon tarpaulin_ Made to Order
(Example) CDBA2L40-100-HN 100| 100 mm K |Heat resistant tarpaulin For details, refer to the next page.
Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.
5 Load voltage Auto switch model | Lead wire length (m) . .
Electrical | = Wiring Pre-wired Applicable
g Special function =} Tie-tod | Band [05| 1 |3 |5
= 3
= entry g (Output) DC AC mounting | mounting | (Nil) | (M) | L) | @) connector load
X M9ON = [ K 2K JKe) o
e (PN 5V, — | G59 @ — @0, O gy
. 12V M9P = [ K 2K JKe) o
Grommet 3-wire (PNP) |24 V — — G5P | @ ® O e
. MOB | — ® o |0 O O
2-wire 12v — Kso @ | — @] O o _
5 Terminal 3-wire (NPN) 12v G39C| G39 | — | — |— | — —
£ conduit 2-wire K39C | K39 | — |—|—|— —
@ 3-wire (NPN) MONW| — ® e |0 O o
2 5V, — [G5oW| @ [—|@[C[ O Jicomit|y, o
= Diagnostic indication Yes . 12v MOPW| — ® | ®@ /e O o !
g (2-color indicator) S-wire (PNP) — |G5PW| @ [ — @] O [¢) PLC
2 . M9BW| — [ BK BK 1K) o
= 2w Jogy| V| — |Ksow| @ |—[@|o| ©
@ Grommet 3-wire (NPN) 5V, MINA*T| — O|C|®@|O o _
Water resistant 3-wire (PNP) 12V MOPA*1| — Ol0C|e@|O o
(2-color indicator) . M9BA*!| — O|0C|®@|O o
2-wire 12v — |GsBA*| — | — | @O 16}
With diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V F59F |G59F | @ | — @ | O @] IC circuit
Magnetic field resistant 2-wire _ P3DWA| — (] [ 2K ] o _
(2-color indicator) (Non-polar) P4DW| — — = ° @)
Yes 3-wire (NPNequiv)| — | 5V — A96 = o | —|0|— — IC circuit | —
£ 100 V A93 = [ BB IK ) — —
H Grommet | No 100 Vorless | A90 = o | —|0|— — | ICcircuit Rel
» Yes 100v.200V| A54 | B54 | @ [— (@@ — oy
2 No oowire oay| 12V [200Vorless| A64 [ B64 | @ |— @[ —| —
= Terminal — A33C| A33 | — |—|—|—| — _
8 conduit A34C| A34 | — |—|—|—| — PLC
Q
o DIN terminal| " °° 100V, 200V "Agac | Add | — | — [—|—| — Relay,
Diagnostic indication (2-color indicator) | Grommet — — AS9W |B59W | @ | — (@ | — — PLC

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
* Lead wire length symbols: 0.5 m-- Nil (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
1 M (Example) MONWM
L (Example) MONWL
5m-. Z (Example) MONWZ
* Since there are other applicable auto switches than listed above, refer to page 523 for details.
or details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A90]/M9OICICI/P3DWALI auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9C)/
M9OO0O before shipment.)

502




Maintains the cylinder’s original
position even if the air supply is

interrupted.

When air is discharged at the stroke end position,
the lock engages to maintain the rod in that posi-

tion.

Same dimensions as those of the

standard cylinder (CA2 series)

Non-locking and locking types are
standard for manual release.

Symbol
Air cushion

Made to Order

Air Cylinder: With End Lock CBA2 series

With auto switch

: =10 to 60°C*2

Specifications
—————
Bore size (mm) 40 50 63 80 100
Fluid Air
Proof pressure 1.5 MPa
operating pressure 1.0 MPa cJ-'
Minimum operating pressure 0.15 MPa*!
y iteh — oc*2
Ambient and fluid temperature Without auto switch: ~10 to 70°C CJP

Piston speed

50 to 500 mm/s

Cushion

Air cushion

Stroke length tolerance

Up to 250 st: *5° 251 to 1000 st: *6* 1001 to 1500 st: *§

+18

Lubrication Not required (Non-lube)
N Basic, Axial foot, Rod flange, Head flange,
Mounting Single clevis, Double clevis, Center trunnion CMZ
#10.05 MPa except locking parts.
#2 No freezing CM3
Lock Specifications
Lock position Head end, Rod end, Double end
o4l o o o o1
Holding force (Max.) (N) 0 ‘ 50 ‘ 63 80 ‘ 00
860 | 1340 | 2140 | 3450 | 5390
2 mm or less

Manual release

Non-locking type, Locking type

AccesSories/Refer to page 485 for part numbers and dimensions.
—

; . Accessories Standard Option
Click here for details
Rod end | Clevis |Lock release bolt|Single knuckle| Double knuckle Rod boot
Symbol Specifications Mounting nut pin (N type only) joint joint (with pin)
-XA[] | Change of rod end shape Basic [ — [ (] [ ] [ ]
-XB6 Heat resistant cylinder (-10 to 150°C) Axial foot [ ] — [ ] [ ] [ ] [ J
-XC3 | Special port location Rod flange Y — ° ° Y Y
-XC4 1 | With heavy duty scraper Head flange [J — [ ] [ J [ [ ]
-XC6 *1 | Made of stainless steel Single clevis [ ] — [ [ ] [ [
XC7 Tie-rod, cushion valve, tie-rod nut, etc. Double clevis* [ ] [ ] [ ] [ ] [ J [ J
made of stainless steel Center trunnion [ — [ [ [ o
-XCg+ | Adiustable stroke cylinder/Adjustable * Double clevis and double knuckle joint types are packed with pin, split pin and flat washer.
extension type
Adjustable strok linder/Adjustabl .
XCO 2 | pe e Standard Strokes Rod Boot Material
-XC10 | Dual stroke cylinder/Double rod type (mm)
- i i i Symbol| Rod boot material |Max. ambient temperature
XC14 | Change of trunnion bracket mounting position B Sk e Y P
-XC15 | Change of tie-rod length J Nylon tarpaulin 70°C
-XC22 | Fluororubber seal 40 25, 50, 75, 100, 125, 150, 175, 200, 250, K |Heat resistant tarpaulin 110°C*
XC27 Double clevis and double knuckle joint 300, 350, 400, 450, 500 * Maximum ambient temperature for the rod
pins made of stainless steel 50,63 | 255075, 100, 125, 150, 175, 200, 250, boot itself.
-XC28 | Compact flange made of SS400 ’ 300, 350, 400, 450, 500, 600
-XC29 | Double knuckle joint with spring pin 80, 100 25, 50, 75, 100, 125, 150, 175, 200, 250,
-XC35 *1 | With coil scraper ’ 300, 350, 400, 450, 500, 600, 700
*1 For head end lock only * Types with auto switch have different minimum
#2 For rod end lock only strokes. Refer to pages 521 and 522.
Refer to pages 517 to 523 for cylinders with . N N
auto switches. ‘ Minimum Stroke for Auto Switch Mounting
« Auto switch proper mounting position (detection 2 .
at stroke end) and its mounting height CaUtlon
* Operating range 1. The minimum stroke for mounting varies with the auto switch type
* Minimum stroke for auto switch mounting and cylinder mounting type. In particular, the center trunnion type
* Auto switch mounting brackets/Part no. needs careful attention. (For details, refer to pages 521 and 522.)

EIEH

(BN ¥]
(7 BIN "]
N || =

-XO

Technical
Data

503 ®


http://www.smcworld.com/products/en/custom.do

CBA2

Series

Weights/Aluminum Tube (Steel Tube)

(kg)
Bore size (mm) 40 | 50 | 63 | 80 | 100
Basic 0.89 | 1.36 | 2.00 | 3.48 | 4.87
(0.94)|(1.40)|(2.04)|(3.63)|(5.07)
) 1.08 | 1.58 | 2.34 | 4.15 | 5.86
Axial foot (1.13)|(1:62)|(2.38) | (4.30) | (6.06)
1.26 | 1.81 279 | 4.93 | 6.79
Flange (1.30)|(1.86)|(2.84)|(5.08)|(6.99)
Basic weight
) ) 1.12 | 1.70 | 2.63 | 459 | 6.65
Single clevis (1.17)|(1.74)|(2.67)| (4.74)|(6.86)
) 116 | 1.79 | 279 | 4.88 | 7.17
Double clevis (1.21)|(1.84)|(2.83)|(5.03)|(7.38)
. 1.25 | 1.84 | 2.80 | 5.08 | 7.15
Trunnion (1.35)|(1.94)|(3.00)| (5.32) |(7.54)
N _ |All mounting brackets | 0.22 | 0.28 | 0.37 | 0.52 | 0.65
Additional weight | g, et steel tube trunnion) | (0.28)|(0.35) |(0.43)|(0.70) | (0.87)
per 50 mm of
stroke Steel tube trunnion | (0.36)(0.46)|(0.65)|(0.86)|(1.07)
Single knuckle 0.23 | 0.26 | 0.26 | 0.60 | 0.83
Accessorie:
Double knuckle (with pin)| 0.37 | 0.43 | 0.43 | 0.87 | 1.27
# Values inside the parentheses are those for the steel tube type.
ty)
Lock Unit Additional Weights
- Ay
(kg)
Bore size (mm) 40 | 50 | 63 | 80 | 100
. Head end lock (H) 0.02 1 0.03|0.03|0.10 | 0.12
Non-locking type  pc e 00k (R) 0.02 | 0.02 | 0.02 | 0.07 | 0.06
manual release (N)
Double end lock (W) | 0.04 | 0.05 | 0.05 | 0.17 | 0.18
Loak Head end lock (H) 0.04 | 0.05 | 0.05 | 0.13 | 0.15
ocking type Rod end lock (R) 0.04 | 0.04 | 0.04 | 0.10 | 0.09
manual release (L)
Double end lock (W) | 0.08 | 0.09 | 0.09 | 0.23 | 0.24

Calculation: (Example) CBA2L40-100-HN

® Basic weigh
® Additional weigh
® Cylinder stroke -
® Lock unit weight

.08 kg (240, Axial foot)
.22/50 stroke

(Head end lock, Non-locking type manual release)
1.08 + 0.22 x 100/50 + 0.02 = 1.54 kg

504



Construction

Head end lock

530 6 ( 34%
5 T
I )
[

;

Component Parts

Locking type manual release: Suffix L

Air Cylinder: With End Lock CBA2 series

g s

[ BIN¥]
[ BIN "]
N || =

No. Description Material Note No. Description Material Note
1 |Rod cover Aluminum die-casted Metallic painted 24 |M/O knob Zinc die-casted Black coated
2 |Head cover Aluminum die-casted Metallic painted 25 |M/O bolt Chromium molybdenum steel Black zinc chromated, Red painted
3 |Cylinder tube Aluminum alloy Hard anodized 26 |M/O spring Steel wire Zinc chromated
4 |Piston Aluminum alloy Chromated 27 |Stopper ring Carbon steel Zinc chromated
5 |Piston rod Carbon steel Hard chrome plating 28 |Cushion valve seal NBR
6 |Bushing Bearing alloy 29 |Rod end nut Rolled steel Trivalent zinc chromated
7 |Cushion ring A Rolled steel Electroless nickel plating 30 |Rod seal NBR
8 |Tie-rod Carbon steel Zinc chromated 31 |Piston seal NBR
9 |Tie-rod nut Rolled steel Trivalent zinc chromated 32 |Cylinder tube gasket NBR
10 |Spring washer Steel wire Trivalent zinc chromated 33 |Piston gasket NBR
1 ring Spring steel Phosphate coating 34 |Cushion seal NBR
12 |Cushion valve Steel wire Trivalent zinc chromated 35 |Wear ring Resin
13 |Magnet* — * With auto switch 36 |Lock piston seal NBR
14 |Lock piston Carbon steel Quench hard chrome plating
15 |Lock bushing Lead-bronze casted .
16 |Lock spring Stainless steel Replacement Parts: Seal Kit
17 |Bumper Urethane Bore size Kit no. Contents
18 |C-ring Steel wire Zinc chromated (mm) One end lock Double end lock
19 |Seal retainer Rolled steel Zinc chromated 40 MBB40-PS MBB40-PS-W
20 |Cushion ring nut Chromium steel | Quench, Electroless nickel plating 50 MBB50-PS MBB50-PS-W Set of the nos,
21 | Hexagon socket head cap screw | Chromium steel|  Black zinc chromated 63 MBB63-PS MBB63-PS-W @), 6, 32, 39, 'g@_
22 |Rubber cap Chloroprene rubber 80 MBB80-PS MBB80-PS-W
23A |Cap A Aluminum casted Black coated 100 MBB100-PS MBB100-PS-W
23B [Cap B Carbon steel Oxide film treated * Seal kit includes 30, 31, 32, 3 and . Order the seal kit based on each bore

size.

* Do not disassemble the trunnion type. Refer to page 525.
+ Seal kit includes a grease pack (240, 250: 10 g, 63, 80: 20 g, 100: 30 g).

Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)

505

o



CBA2 series

Basic (Dimensions are common to head end lock, rod end lock and double end lock types.)

Head end lock: CBA2B|Bore s

[Stroke|-HN

&
& 2xp DL
Width across flats KA (Re, NPT, G) ri
o == am= 1 %j
S L (o]
w ot P
EIS J L J
i = ERRE
Width across /| _AL || | |F|_ ™ 2.x Cushion valve
flats B1 A K| N | Widthacross flats of hexagon hole WB | N
H S + Stroke M
ZZ + Stroke

Rod end lock: CBA2B

[Stroke|-RN

Non-locking type manual release:
Suffix

Non-locking type manual release:
Suffix N

Locking type manual release:
Suffix L

oMO

‘ [=]
2

HN

—u

Locking type manual release:
Suffix L

¥y WL
L 2xP G J oRF ‘ .
Width across flats KA i‘ (Re, NPT, G) pL
MM —
= = g D) £
] [ 4] i
o T > .
= I
2 | J L J = \ f\ =
H1 =S ! h o —d |
Width across /| _AL || | |F| % 2 x Cushion valve
flats B1 A K | N | Width across flats of hexagon hole WB| N Cc
H S + Stroke M B
ZZ + Stroke
- ! Non-locking type manual release:
Double end lock: CBA2B WN Suffix N Locking type manual release:
ic} G wL Suffix L
BL  2xP bL g [eBE] .
Width across flats KA (Re, NPT, G) |
L — };\ Jﬁ — o«
= ; | — B N
et [ X i
g i I e
it LY Y] X/
H1 s Lols 1 (c
oLl
Width across /| _AL || | |F| < 2 x Cushion valve
flats B1 A K| N Width across flats of hexagon hole WB| N [+
H S + Stroke M B
ZZ + Stroke
With rod boot
% i With Rod Boot (rom)
3 ] Bore size (mm) | Stroke range (mm) | d e f h ¢ zz
=) 40 20 to 500 56 | 43 |11.2| 59 |1/4 stroke| 154
‘ ‘ B 50 20 to 600 64 | 52 |11.2| 66 |1/4 stroke| 167
102 ¢t 63 20 to 600 64 | 52 [11.2] 66 |1/4 stroke| 178
ZZh +: Stoke 80 20 to 750 76 | 65 |12.5| 80 |1/4 stroke| 213
+l+
100 20 to 750 76 | 65 |14 81 |1/4 stroke | 224
Bore size| Stroke HN
(mm) | range A|/AL B |B:|C DIDLIE|F|G|H|H:|HR i) J K|KAIM| MM MOl N P |[RF| S WBWL|ZZ
40 Upto500( 30 |27 | 60|22 |44 |16 |13 |32 |10 (15|51 | 8 |423|56 [M8x125| 6|14 |11 |M14x15|19 |27 |1/4|17 | 84|2.5|25 146
50 Upto600 | 35|32 | 70|27 |52 |20 (13 |40 | 12|17 |58 |11 |47.3|61 |M8x1.25| 7 |18|11 |M18x15|19|30|3/8|17| 90(2.5|25 |159
63 Upto600 | 35 | 32 | 85|27 |64 |20 (155/40 | 10| 17|58 | 11 |54.8/68.5|MI0x1.25| 7|18 |14 |M18x1.5| 19|31 |3/8|17| 98|4 |25 (170
80 Upto750 | 40 | 37 [102| 32 | 78 | 25 18552 | 14 | 21 | 71 | 13 |65.8(80.5|M12x1.75 | 11 |22 | 17 |M22x1.5|23 | 37 |1/2| 21 [116|4 |40 204
100 |Upto750 |40 | 37 |116| 41|92 |30 |20 |52 |14 |21 |72 |16 |72.8|87.5|M12x1.75| 11|26 | 17 |M26x1.5| 23 | 40 | 1/2| 21 |126|4 |40 |215

The dimensions for each mounting type and the dimensions of accessories (options) are the same as the standard double acting single rod model. Refer to pages 476 to 485.

506



CBA2 series
Specific Product Precautions

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

Relation to Cushion \

‘ Use the Recommended Pneumatic Circuit ‘
A\ Caution

This is necessary for proper operation and release of the

A\ Caution

1. When the cushion valve on the lock mechanism side is fully
closed or almost closed, the piston rod may not be able to reach
the stroke end, resulting in lock engagement failure. Furthermore,
if the lock becomes engaged while the cushion valve is almost
fully closed, it may become impossible to be released. Therefore,
the cushion valve must be adjusted properly.

Releasing the Lock |

lock.

Head end lock Rod end lock
\ Handling \
A\ Caution

1. Do not use a 3 position solenoid valve.

A\ Caution

1. To release the lock, make sure to supply air pressure to the port
on the side without a lock mechanism, thus preventing the load
from being applied to the lock mechanism. (Refer to the
recommended pneumatic circuits.) If the lock is released, while
the port on the side without a lock mechanism is in the exhausted
state and the load is being applied to the lock mechanism, undue
force may be applied to the lock mechanism, causing the lock
mechanism to be damaged. Also, it could be extremely
dangerous, because the piston rod could move suddenly.

Avoid using this cylinder in combination with a 3 position solenoid

Manual Rel

[xHIKx]
€= || C=
0 || =

z(8/2[2g]g
oa_szgN

valve (particularly the closed center metal seal type). If air
pressure becomes sealed inside the port on the lock mechanism
side, the cylinder cannot be locked. Even if the lock is released at
first, the air that leaks from the solenoid valve could enter the
cylinder and cause the lock to release as time elapses.

. Back pressure is required to release end lock.
Be sure air is supplied to the side of the cylinder without a lock
mechanism (side of the piston rod without lock for double end
lock), before starting up, as in the above figures. Otherwise, the
lock may not be released. (Refer to “Releasing the Lock”.)

. Release the lock when mounting or adjusting the

N

w

cylinder.
If mounting or other work is performed when the cylinder is
locked, the lock unit may be damaged.

. Operate with a load ratio of 50% or less.
If the load ratio exceeds 50%, this may cause problems such as
failure of the lock to release, or damage to the lock unit.

. Do not operate multiple synchronized cylinders.
Avoid applications in which two or more cylinders with end lock
are synchronized to move one workpiece, as one of the cylinder
locks may not be able to release when required.

. Use a speed controller with meter-out control.
If operated under meter-in control, the lock may not be released.

. Be sure to operate completely to the cylinder stroke
end on the side with the lock.
The lock may not be engaged or released if the piston in the
cylinder has not reached the stroke end.

S

o

[=2]

~

\ Operating Pressure

A\ Caution

1. Supply air pressure of 0.15 MPa or higher to the port on the lock
mechanism side, as it is necessary for releasing the lock.

\ Exhaust Speed
A\ Caution

1. When the pressure on the lock mechanism side drops to 0.05
MPa or below, the lock engages automatically. If the piping on the
lock mechanism side is thin and long, or if the speed controller is
away from the cylinder port, the lock engagement may take some
due to decline of the exhaust speed. The same result will be
caused by clogging of the silencer installed at the EXH port of the
solenoid valve.

A\ Caution

1. Non-locking type manual release
Insert the bolt, which is provided as an accessory, through the
rubber cap (it is not necessary to remove the rubber cap). Screw
the bolt into the lock piston and pull the bolt to release the lock.
Releasing the bolt will re-engage the lock.
The bolt size, pulling force, and the stroke are listed below.

Bore size (mm) Thread size Pulling force | Stroke (mm)
40, 50,63 |M3x0.5x 30 L or more 10N 3
80, 100 M5 x 0.8 x 40 L or more 245N 3

* Remove the bolt for normal operation.
*# |t can cause lock malfunction or faulty release.

Rubber cap

2. Locking type manual release

Push the M/O knob and turn it 90° counterclockwise. The lock is
released when the A mark on the cap is aligned with the ¥ OFF
mark on the M/O knob (and the lock will remain released).

To engage the lock, push the M/O knob all the way in and turn it
90° clockwise to align the A mark on the cap with the ¥ ON mark
on the M/O knob. At this time, make sure that the knob stops by
clicking into place.

Failure to click it into place properly can cause the lock to release.

l
v
=) Release Lock em

Release state

Locked state

gzss

[ BIN¥]
[ BIN "]
N || =



Air Cylinder: Air-hydro Type
Double Acting, Single Rod

CA2

H Series

240, 050, 063, 80, 3100

BN cA2lL]

With auto switch

CD
— 1

A2[L

How to Order

H[50] |-[100] |-[ |
I ]

Made to Order
For details, refer to the
next page.

(Built-in magnet)

Built-in Magnet

Cylinder Model

If a built-in magnet cylinder

without an auto switch is

required, there is no need
to enter the symbol for the
auto switch.

(Example) CDA2LH40-100

# Not available with auto switch.

I
H[50] |-[100] |-[M9BW] |-|
—I__ | E—

———— e Hydro type

Mounting Port thread type Auto switch
B Basic i
LT o oot et | | NI without auto switen]
# For I auto switches,
(F; '_TOddf:?nge TF G refer to the table below.
ead flange " i
C Single clevis Bore size Suffix (Rod boot)
D Double clevis Tube 40| 40 mm Nil Without rod boot
T | Center trunnion material 50| 50 mm J Nylon tarpaulin
- 63| 63 mm K |Heat resistant tarpaulin
80 80 mm
100[ 100 mm

Number of
auto switches
Nil | 2pcs.
S 1 pc.
3 3 pes.
n “n” pcs.

Cylinder stroke (mm)
For details, refer to the next page.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

o Electrical Wiring Load voltage Auto switch model | Lead wire length (m) Proired Applicable
<3 Special function Tietod | Band |05 ] 1 [3] 5 §
= entry (Output) DC AC mounting | mounting | (Nil) | (M) | (L) | ) connector load
) MON = ® o |0 O o
Sre (PN 5V, — G59) e —10.0 o IC circuit
12V M9P = ® & 0 O o
t -wire (PNP) |24 V —_
Gromme 3-wire (| ) — GP | @ |— e|O o)
. M9B = ® | e 0 O o
2-wire 12V — K59 | @ e 16} _
A Terminal 3-wire (NPN) 2V G39C | G39 | — |—|—|— —
s conduit 2-wire K39C | K39 | — |—|—|— —
H
7 . MONW| — ® & 0 O o)
-g S-wire (NPN) 5V, — |G59wW| @ |— |@| O [e) IC circuit Relay
o Diagnostic indication Yes 12V MOPW| — ® e |0 O O !
% (2-color indicator) 3-wire (PNP) — |G5PW| @ |— @O O PLC
3
] M9BW| — ® o |0 O o
-] 2
3 Zwie gy BV — |ksow| @ [—|e|0| ©
Grommet 3-wire (NPN) 5V, MONA*1| — C|]0|®@|O o] _
Water resistant 3-wire (PNP) 12V MOPA*!| — O|0C|e@|O o
(2-color indicator) e 12V M9BA*!| — O|C|®@|O o
e — |G5BA*1| — DIe
With diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V F59F |G59F | @ |— | @ | O [e) IC circuit
Magnetic field resistant 2-wire _ P3DW| — [ ] [ 2K ) o _
(2-color indicator) (Non-polar) P4DW — — | —|®| ® O
Ves | 3Wire (NPNeqiv) | — | 5V — A96** | — ® |—|®|—| — |ICcircut| —
- 100V |A93™| — | @ |®e|e|e® -
e Grommet | No 100Vorless | AQO** | — o —|eo|— IC circuit Rel
3 Yes 100V,200V| A54 | B54 | ® |— @ | ®| — pLC
-g No X 12V [200Vorless| A64 | B64 | @ | — @ | — —
E - 2-wire 24V
o Terminal — A33C | A33 — == — o
@ .
8 conduit A34C | A34 | — | — — PLC
& DIN terminal| ¥ 100V 20V agac [ Ads | — [— [—|—| — Relay,
Diagnostic indication (2-color indicator) | Grommet — — ASOW |B5SW | @ | — (@ | — — PLC

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m--
1

3
5m-.

Nil (Example) MONW

M (Example) MONWM
L (Example) MONWL
Z (Example) MONWZ

+ Solid state auto switches marked with “O” are produced upon receipt of order.
*+D-A90] and D-A901V types cannot be mounted on 650. Use D-Z701 and D-Z80 instead.

* Since there are other applicable auto switches than listed above, refer to page 523 for details.
* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A9C)/M9CICICI/P3DWII auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9L)/

M9OOO before shipment.)

508



Air Cylinder: Air-hydro Type
Double Acting, Single Rod

CAZ2(1H series

Specifications
———
Bore size (mm) 40 50 63 80 100
Type Air-hydro
Fluid Turbine oil
Action Double acting CJ1
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa CJP
Symbol Ambient and fluid temperature 5to 60°C CJZ
Double acting, without cushion Minimum operating pressure 0.1 MPa
Piston speed 0.5 to 300 mm/s JCM
Cushion None
Stroke length tolerance Up to 250 st: "6° 251 to 1000 st: “¢* 1001 to 1500 st: *s° cMm2
Mountin Basic, Foot, Rod flange, Head flange,
M 9 Single clevis, Double clevis, Center trunnion cM3
order Made to Order
Click here for details CG1
In case of a type with auto switch, also refer to the table of minimum
Symbol Specifications Standard Strokesistrokes for auto switch mounting on pages 521 and 522.
-XA[ |Change of rod end shape (mm) CG3
-XC6 |Made of stainless steel
. Long stroke
-XC14 | Change of trunnion bracket mounting position| Bore size Standard stroke "' (L and F only) JMB
-XC15 |Ch f tie-rod length
|~nange o eiod eng . 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400,
Note) Since a heavy duty scraper (-XC4) is installed 40 800 MB
; i 450, 500
as standard, there is no need to specify it.
. 50, 63 igbsgbgséggo’ 125, 150, 175, 200, 250, 300, 350, 400, 1200 MB1
/A\Precautions /5%,
80, 100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 280: 1400
o ’ 450, 500, 600, 700 100: 1500
Setting cs1
Note) Intermediate strokes not listed above are produced upon receipt of order.
A Caution cs2
. Do not use the cylinder near fire or A g g
ri Rod Boot Material
on equipment or machinery whose M od Boo ateria
ambient temperature exceeds 60°C.
Since the a'rfhydro CV!'nder uses ﬂammablle Mountin Basic Axial | Rod | Head | Single | Double | Center Gitial Rod boot Max. ambient
RI}':ra”“C fluid, there is danger of potential 9 foot |flange |flange | clevis | devis | tumion V! material temperature
’ Rodendnut| @ | @ | @ | ®@ | © | ©® | ©® Nylon
- s o
Selection St Clevispin| — | — | — | — | — | @ | — J tarpaulin 70°C
e knucke i
A Caution Sigelnuckent| @ | @ | @ | @ | O | O | @ K Hegrrzsﬁ]ant 110°C*
. Keep the air-hydro cylinder load at Option|P0EICe) o | g | @ | @ | @ | @ | ® paul
50% or less than the theoretical out- fint vt pin * Maximum ambient temperature for the
put. Withrodboot| @ | @ | @ | @ [ @ | @ | @ rod boot itself.
For the air-hydro cylinder to achieve per- # Refer to page 485 for part numbers and dimensions.
formance that is close to that of the hydrau-
lic cylinder in constant-speed operation and . .
stopping accuracy, the load must be kept at Welghts/AIumlnum Tube (Steel Tu be)
50% or less than theoretical output. (kg)
‘ Minimum Stroke for Auto Switch Mounting ‘ Bore size (mm) 40 50 63 80 | 100
. Basic 0.89 1.36 2.00 3.48 4.87
A Caution (0.94) | (1.40) | (2.04) | (363) | (5.07) |\ /o0
1. The minimum stroke for mounting Axial foot 1.08 | 1.58 | 234 | 415 | 586 | o)
varies with the auto switch type and (113) | (1.62) | (2.38) | (4.30) | (6.06) | cA21 H40-100
cylinder mounting type. In particular, Flange 126 | 1.81 | 279 | 493 | 6.79 | axjal foot, 940, 100
the center trunnion type needs Basic (1.30) | (1.86) | (2.84) | (5.08) | (6.99) |stroke)
careful attention. weight Single clevis 112 | 170 | 263 | 459 | 6.65 | eBasic weight
(For details, refer to pages 521 and 522.) (1.17) | (1.74) | (2.67) | (4.74)
f P " " Double clevis 1.16 1.79 2.79 4.88
He‘er to_tpages 517 to 523 for cylinders with (.21) | 1.83) | 2.83) | (5.09) :
AUIOISWICHOS, Trunnion 125 | 184 | 280 | 508 | 7.15 | ®Cylinder stroke
* Auto switch proper mounting position (detection (1.35) | (1.94) | (3.00) | (5.32) | (7.54) ; Oé':%();ztfke D-0O0
at stroke end) and its mounting height Additional | Al mounting brackets| 0.22 | 0.28 | 0.37 | 0.52 0.65 100/50 = 1.52 kg
« Operating range wewgh: per 50 (Excems\eelmbetmnn.mn) (0.28) | (0.35) | (0.43) | (0.70) | (0.87) + Values inside the _X|:|
- . . mm of stroke [Steel tube trunnion| (0.36) | (0.46) | (0.65) | (0.86) | (1.07)
* Minimum stroke for auto switch mounting - parentheses are -
« Auto switch ing brackets/Part Single knuckle | 023 | 026 | 0.26 | 0.60 | 0.83 | ihoce for the steel | Technical
uto switch mounting brackets/Part no. H Doublknuck vihon] | 0.87 | 043 | 043 | 0.87 | 127 | tube type. Dala

509 ®


http://www.smcworld.com/products/en/custom.do

CAZ2[1H series

Construction

1377@??7@5%??289
[ }.DN_L - “ 1] J ) =
B =S SEEiES (G

Component Parts

No. Description Material Note
1 | Rod cover Aluminum alloy Metallic painted
2 | Head cover Aluminum alloy Metallic painted
3 | Cylinder tube Aluminum alloy Hard anodized
4 | Piston rod Carbon steel Hard chrome plating
5 |Piston Aluminum alloy Chromated
6 | Bushing Bearing alloy
7 |Tie-rod Carbon steel Trivalent zinc chromated
8 | Spring washer Rolled steel Trivalent zinc chromated
9 |Tie-rod nut Rolled steel Trivalent zinc chromated
10 | Air release valve Chromium steel| Black zinc chromated
11 | Check ball Bearing steel
12 | Wear ring Resin
13 | Scraper NBR
14 | Rod seal NBR
15 | Piston seal NBR
16 | Cylinder tube gasket NBR
17 | Piston gasket NBR
18 | Rod end nut Rolled steel Trivalent zinc chromated

510

Replacement Parts: Seal Kit

Bore size Kit no.
(mm) Air-hydro type S
40 CA2H40A-PS
50 CA2H50A-PS Set of the nos
63 CA2H63A-PS APty :
80 CA2H80A-PS 05, .
100 CA2H100A-PS

* Do not disassemble the trunnion type. Refer to page 525.

« Seal kit includes ¢
= Seal kit includes

5 and (6. Order the seal kit based on each bore size.

ease pack (240, 850: 10 g, 263 or more: 20 g).
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)



Air Cylinder: Air-hydro Type .
Double Acting, Single Rod CAZDH Series

Basic: CA2BH

Width across
4xJ flats KA G 2xP

= Q(Rc, NPT, G)
MM = a7

%&;‘
) i
6

4

I

o 80

FH o

fi—=—1

S8 = 7
\ﬁﬁ( r H1 =S HH
i g SHiiE
B1 AL || LIF]_ Air release
T’ A KI_N N
B H S + Stroke M
ZZ + Stroke
With rod boot
=P
i
38
P H]
H B—
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
ize | Stroke range (mm)
Borsiois e | o \aL| B |Bi|C|D|E|F|G|H| J |K|ka m|mwm|N|P
(mm) | Wioutrod boot| With rod boot
40 |Upto500|20t0500| 30 27 60 | 22 44 16 32 10 15 8 |M8x125| 6 14 11 |M14x15| 27 1/4
50 |Upto600|20to600| 35 32 70 | 27 52 20 40 10 17 11 |[M8x1.25| 7 18 11 |[M18x1.5| 30 | 3/8
63 Upto600{20t0 600 | 35 32 85 | 27 64 20 40 10 17 11 [M10x1.25 7 18 14 |M18x1.5| 31 3/8
80 |Upto750|20t0750| 40 37 | 102 | 32 78 25 52 14 21 13 |[M12x1.75| 10 22 17 |M22x1.5| 37 1/2
100 |(Upto750|{20t0750| 40 37 | 116 | 41 92 30 52 14 21 16 |[M12x1.75| 10 26 17 |M26x1.5| 40 1/2
Bore size s Without rod boot With rod boot

(mm) H|2Z | d e f h ¢ Y44

40 84 | 51 | 146 | 56 43 | 11.2| 59 | 1/4stroke | 154
50 90 | 58 | 159 | 64 | 52 | 11.2| 66 | 1/4 stroke | 167
63 98 | 58 | 170 | 64 | 52 | 11.2| 66 | 1/4stroke | 178
80 116 | 71 | 204 | 76 65 | 125| 80 | 1/4stroke | 213
100 | 126 | 72 | 215 | 76 65 | 14 81 1/4 stroke | 224

The dimensions for each mounting type and the dimensions of accessories (options) are the same as the standard double acting single rod model. Refer to pages 476 to 485.

5
[
—t

ol
DI &= &
|| @ NSV

gisse

[ BIN¥]
[ BIN "]
N || =



Air Cylinder: Air-hydro Type
Double Acting, Double Rod

CA2W1[H series

240, 050, 063, 80, 3100

How to Order

BN ca2w( HBO[ o0 -] =
ENZEXIE] cDA2WIL HB0[ ]-100]. ]- M9BW

With auto switch Auto switch
(Built-in magnet) - poyble rod type Port thread [ Nil_Twithout auto switch]
Mounting type * For applicable auto switches,
B Basic Tube material Nil Rc refer to the table below.
L Axial foot Nil_[ Aluminum tube TN | NPT Suffix (Rod boot)
F Rod flange F* Steel tube TF G Nil_| Without rod boot | Number of auto
T T Center trunnion * Not available with auto switch. . ggz J Nylon tarpadlin switches
Hydro type Bore size K |Heat resistant tarpaulin Nil | 2pcs.
40| 40 mm Both Nil Without rod boot S 1 pc.
- . 50| 50 mm ‘ JJ Nylon tarpaulin 3 3 pes.
Built-in Magnet Cylinder Model 63| 63 mm - KK |Heat resistant tarpaulin n_ [“n”pes.
If a built-in magnet cylinder without an auto switch is required, 80| 80 mm i
there is no need to enter the symbol for the auto switch. 100 100 mm Cylinder stroke (mm)
(Example) CDA2WLH40-100 For details, refer to the next page.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

Load voltage Auto switch model | Lead wire length (m) . .
2 Electrical Wiring Pre-wired Applicable
= Special function =5 Tie-rod | Band | 05| 1 | 3| 5
(= entry s (Output) DC AC mounting| mounting | (Ni) | (M) | (L) | @) connector load
. M9N = [ K BK 1K) o
e (PN 5V, — 1 G59 @ —'@.0 © i cireut
. 12V M9P = [ K 2K JKe) o
Grommet 3-wire (PNP) |24 V — — G5P | @ ® O 6
2-wire 12V MEB Kgg : 1 : 8 8 _
5 Terminal 3-wire (NPN) 12v G39C| G39 | — | — |— | — —
£ conduit 2-wire K39C | K39 | — |—|—|— —
@ S-wire (NPN) MONW| — ® e |0 O o
2 5V, — |G5ow| @ [—[@[O| O [iccmit|,
° Diagnostic indication Yes| o ire (PNP) 12v MOPW| — ® & 06 O O PLgY
s (2-color indicator) — |G5PW| @ |— @O o
2 . M9BW| — ® | ® e O o
= Zwie  Jogy| V| — |Ksow| @ |—[@|o0| ©
*» Grommet 3-wire (NPN) 5V, MONA*1| — O|C|®@|O o _
Water resistant 3-wire (PNP) 12V MYPA*1| — O|l0C|®@|O o
(2-color indicator) . M9BA*!| — O|0C|®@|O o
2-wire 12v — |GsBA*| — | — | @O 16}
With diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V F59F |G59F | @ | — @ | O @] IC circuit
Magnetic field resistant 2-wire _ P3DW| — (] [ 2K ] o _
(2-color indicator) (Non-polar) P4ADW| — — | = [ ) o
Yes 3-wire (\PNequiv)| — | 5V — A96** | — o | —|0|— — IC circuit | —
5 100V _[A93**| — e |e|e|e®| — —
E Grommet | No 100Vorless | A90** | — ® —|® —| — |(Comut_
3 Yes 100v.200V| A54 | B54 | @ [— (@@ — oy
2 No oowire oay| 12V [200Vorless| A64 | B64 | @ |—|@[—| —
= Terminal — A33C| A33 | — |—|—|—| — _
3 conduit A34C| A34 | — | — |—|— — PLC
Q
o DIN terminal| " °° 100V, 200V "Agac | Add | — | — [—|—| — Relay,
Diagnostic indication (2-color indicator) | Grommet — — AS9W |B59W | @ | — (@ | — — PLC

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
* Lead wire length symbols: 0.5 m-- Nil (Example) MONW * Solid state auto switches marked with “O” are produced upon receipt of order.
1 M (Example) MONWM  =xD-A90 and D-A901V types cannot be mounted on ¢50. Use D-Z70J and D-Z80 instead.
L (Example) MONWL
5m-. Z (Example) MONWZ
* Since there are other applicable auto switches than listed above, refer to page 523 for details.
or details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A90J/M90IOICI/P3DWII auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9C)/
M9OOO before shipment.)

512




-
-
Sl

.

M

e
e

A

Symbol
Without cushion

to
Made to Order

Click here for details

Symbol
-XC6

-XC14
-XC15 |Change of tie-rod length

Note) Since a heavy duty scraper (-XC4) is installed
as standard, there is no need to specify it.

Specifications

Made of stainless steel

Change of trunnion bracket mounting position

Minimum Stroke for Auto Switch
Mounting

A\ Caution

1. The minimum stroke for mounting varies with
the auto switch type and cylinder mounting
type.

In particular, the center trunnion type needs
careful attention. (For details, refer to pages
521 and 522.)

Refer to pages 517 to 523 for cylinders with
auto switches.

* Auto switch proper mounting position (detection
at stroke end) and its mounting height

* Operating range

* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.

Air Cylinder: Air-hydro Type
Double Acting, Double Rod

CA2WI[H series

Stroke length tolerance

Up to 250 st:*¢°, 251 to 750 st:*¢*

Specifications
————
Bore size (mm) 40 ] 50 | 63 I 80 100
Type Air-hydro
Fluid Turbine oil
Action Double acting CJ"
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa ‘CJP
Minimum operating pressure 0.16 MPa
Piston speed 0.5 to 300 mm/s
Ambient and fluid 510 60°C CJ2
Cushion None @

Mounting

Basic, Axial foot, Rod flange, Center trunnion

In case of a type with auto switch, also refer to the table of minimum
Standard Strokesistrokes for auto switch mounting on pages 521 and 522. cMm3
—————————
(mm)
Bore size Standard stroke CG1
40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500
50, 63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 CG3
80, 100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700

# Intermediate strokes not listed above are produced upon receipt of order.

Rod Boot Material

Symbol Rod boot material Max. ambient temperature
J Nylon tarpaulin 70°C
K Heat resistant tarpaulin 110°C*
* Maximum ambient temperature for the rod boot itself.
Accessories
——
Mounting Basic | Foot |Flange 18?}?\22;]
Standard Rod end nut ] [ ] [ ] [ ]
Single knuckle joint | @ [ ] [ ] [ ]
Option ?“zrhbﬁnl;nuckle joint ° ° ° °
With rod boot [ ] [ ] [ ] [ ]
= Refer to page 485 for part numbers and dimensions.
Weights/Aluminum Tube (Steel Tube)
—
(kg)
Bore size (mm) 40 50 63 80 100
y 1.03 1.59 2.26 3.94 5.57
Basic
(1.08) | (1.64) | (2.30) | (4.09) | (5.78)
Axial foot 1.22 1.81 2.59 4.61 6.65
Basic weight (1.27) | (1.86) | (2.63) | (4.76) | (6.77)
Flange 1.40 2.05 3.05 5.39 7.49
(1.45) | (2.09) | (3.09) | (5.55) | (7.70)
Trunnion 1.39 2.07 3.06 5.49 7.85
(1.49) | (2.18) | (3.25) | (5.78) | (8.24)
Additional All mounting brackets 0.30 0.40 0.50 0.71 0.92
weight per 50 |(Except steel tube trunnion)| (0.35) | (0.47) | (0.55) | (0.89) | (1.15)
mm of stroke  [Steel tube trunnion (0.44) | (0.58) | (0.77) | (1.06) | (1.35)
Accessories Single knuckle 0.23 0.26 0.26 0.60 0.83
Double knuckle (with pin) | 0.37 0.43 0.43 0.87 1.27

Calculation: (Example) CA2WLH40-100 (Axial foot, 240, 100 stroke)

® Basic weight
® Additional weight-

1.22 (Axial foot, 40)
0.30/50 stroke

® Cylinder stroke ----- 100 stroke

1.22 + 0.30 x 100/50 = 1.82 kg
# Values inside the parentheses are those for the steel tube type.

gzss

(BN ¥]
(7 BIN "]
N || =


http://www.smcworld.com/products/en/custom.do

CA2WI[H series

Construction
9 (0 PDROXA i) 43 { B
xL v
- [ L) A} T 1
| ] % —
| I ’ | I |
[ | ‘ 4 | J
| H=
=

Component Parts

No. Description Material Note
1 |Rod cover Aluminum alloy Metallic painted
2 |Cylinder tube Aluminum alloy Hard anodized
3 |Piston rod Carbon steel Hard chrome plating
4 |Piston Aluminum alloy Chromated
5 |Bushing Bearing alloy
6 |Spring washer Rolled steel Chromated
7 |Tie-rod nut Rolled steel Nickel plating
8 |Tie-rod Carbon steel Zinc chromated
9 |Scraper NBR
10 |Rod seal NBR
11 |Piston seal NBR
12 |Cylinder tube gasket NBR
13 | Piston gasket NBR
14 |Piston holder Urethane
15 |Rod end nut Rolled steel Nickel plating
16 |Air release valve  |Chromium molybdenum steel| Black zinc chromated
17 |Check ball Bearing steel

514

Replacement Parts: Seal Kit

Bore size Kit no.
Content:
(mm) Air-hydro type onients
40 CA2WH40A-PS
50 CA2WH50A-PS Set of the nos
63 CA2WH63A-PS — PR
@, @, .
80 CA2WHB0A-PS
100 CA2WH100A-PS

# Do not disassemble the trunnion type. Refer to page 525.
« Seal kit includes 10, @ and (2. Order the seal kit based on each bore size.
+ Seal kit includes a grease pack (240, 850: 10 g, 863 or more: 20 g).
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)



Air Cylinder: Air-hydro Type .
Double Acting, Double Rod CA2 WDH Series

Basic: CA2WBH

Width across

4xd flats KA MG 2xP G M Width across flats KA
MM /(Rc, NPT, G) I MM
s L@ T SARIES
7%%7 STt ] —
oo £ é;}_y S %i \'X er\ ? g\( %Iué
?%Eﬂ( N H Rir==ih == n H
| T 1 ﬁ’:ﬂLQ %‘U}:‘: 1
Bi AL F Air release AL
‘?’ A K N N |F K A
B H S + Stroke H + Stroke

ZZ + 2 strokes

With rod boot (One side)

oe
|

10.2

h+¢
ZZ + ¢ + 2 strokes

With rod boot (Both sides)

—Hr P = = e T
T T s
g 8 l © 8z
L i FL vL e
‘ ‘ —dlilib ! —
102 ¢ | £ f | ¢ + Stroke 10.2
h+¢ S + Stroke h + ¢ + Stroke
ZZ + 2¢ + 2 strokes
(mm)
Bore size Stroke range (mm) A AL B B c D E F G H: J K KAl M MM N

(mm) | Without rod boot | With rod boot
40 Up to 500 | 20 to 500 | 30 27 60 | 22 44 16 32 10 15 8 M8 x 1.25 6 14 1 M14x15 | 27
50 Up to 600 | 20 to 600 | 35 32 70 | 27 52 20 40 10 17 11 M8 x 1.25 7 18 11 M18x 1.5 | 30
63 Up to 600 | 20 to 600 | 35 32 85 27 64 20 40 10 17 11 M10 x 1.25 7 18 14 M18x1.5 | 31
80 Up to 750 | 20to 750 | 40 37 | 102 | 32 78 25 52 14 21 13 | M12x1.75 | 11 22 17 | M22x 1.5 | 37
100 |Upto750 | 20to 750 | 40 37 | 116 | 41 92 30 52 14 21 16 | M12x1.75 | 11 26 17 | M26x 1.5 | 40

Bore size s Without rod boot With rod boot (One side) (Both sides)
(mm) ? H |2z | d e f h ¢ 2z zz
40 1/4 84 | 51 186 | 56 43 | 11.2| 59 1/4 stroke | 194 202
50 3/8 90 | 58 | 206 | 64 52 |11.2| 66 1/4 stroke | 214 222
63 3/8 98 | 58 | 214 | 64 52 | 11.2| 66 1/4 stroke | 222 230
80 12 | 116 | 71 | 258 | 76 65 | 125 | 80 1/4 stroke | 267 276
100 1/2 | 126 | 72 | 270 | 76 65 | 14.0 | 81 1/4 stroke | 279 288

The dimensions for each mounting type are the same as the standard double acting double rod model. Refer to pages 490 to 493. For details about accessories (options), refer to page 485. ‘

515

(5]
(7]
-

(5]
n
N



Air Cylinder: Low Friction Type
Double Acting, Single Rod

CA2

How to Order

Q) Series

640! gso! ®63! gsoi g.loo Use the new “Smooth Cylinder CA2Y

Series” to realize dual-side low friction
and low-speed operation. (Refer to the
Best Pneumatics No. 2-3.)

] CAzoD|4o| —|150| -]

|4o|

|O

—|150|

I—l
-moBW| |-[ ]

[T CDA2LIC

With auto switch
(Built-in magnet)

Mounting
Basic
Axial foot
Rod flange
Head flange
Single clevis
Double clevis
Center trunnion

=|0|0|®|m|r|w

Low friction

Tube material

[ Nil [ Aluminum tube
Steel tube

+ Not available with auto switch.

Bore size
40 | 40mm
50 | 50 mm
63 | 63 mm
80| 80mm
100| 100 mm

Built-in Magnet Cylinder Model
If a built-in magnet cylinder without an auto
switch is required, there is no need to enter
the symbol for the auto switch.

(Example) CDA2BQ40-100

516

Port thread type
Nil Rc
TN NPT
TF G

Made to Order

Number of auto switches

Nil | 2 pcs.

S 1pc.

3 3 pes.

n “n” pcs.
Auto switch

Without auto switch
(Built-in magnet)

Direction of low friction

F | With pressure at head side |

B \ With pressure at rod side \

Cylinder stroke (mm)



CA2 series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Band mounting>

D-B501/B64/B59W

Auto switch =Hs
i g
d Bl o ax:
Lo R
fon = (1= g
A_[.33 ]
D-A30J
D-G39/K39 G
A 49 (Applicable cable O.D.) 6.8 to 29.6
B_ ‘ ~Hs
Tt i = 5
EiL _. :é j_f L %»
D-G5L1/K59 D-G5BA
D-G5[]W/K59W D-G59F/G5NT
Auto switch =Hs
T Lo
g il 3 s
iz L = = |
fon S <r‘ S g
A | 33 =B
D-A44 G2
(Applicable cable O.D.) 96.8 to 611.5
=rP—m e D)
=5 = Y
s = I 0
36 B

> f’

!

<Tie-rod mounting>

D-M9CI/MOLIV
D-MOIW/M9LCIWV

D-Y59L1/Y69L/Y7P/Y7PV
D-Y7OOW/Y7COWV

D-M9CJA/MOLCIAV D-Y7BA
D-A9LI/A9IV D-Z7(1/Z80
LA Auto switch =~Hs
.—nﬁg]ﬁ == =7
Al o == N
E o
Ry E IR PN
il
D-A5[1/A60]
D-A59W Auto switch =Hs,
i 2l | n o a=b | AN T
=FE B O
W i i ¥ fEeRo
R Al d = G
|| T S|
=7 i} B e u ISy
A_|.33 ]
D-G39C/K39C
D-A3CIC G1/2
A 49 (Applicable cable O.D.) 6.8 to 29.6
36 / B H
o == = e
A= &% \
.—FIF‘"E@ ro— 7@ ::z:
=t &
D-F5[1/J59 D-F50JW/J59W
D-F5NT D-F5BA/F59F
Auto switch
=2 :4@1_'—'
LB

G1/2
(Applicable cable O.D.) 26.8 to 811.5
B

D-P3DWA
D-P3DW
A_ Auto switch
.—HF*‘DE a
il o B
Ee| —
=l B
Il
D-P4ADW Auto switch
A2 .
e : D)
Y o D

5
[
—t

(x]
C—
o

8
C—
N

[
()
=

E

oo
D=
=)

=
=
—

[ BIN¥]
[ BIN "]
N || =



CA2 series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Standard type) (mm)
Auto D-G39
switch D-G39C
model | p-Mor] D-F500 DK3y | PG5
DMOCW D-FsoF DS | DGSNT | b pe
D-MIOIWV D-PADW | p.psciw | D-FSNT | D-ASSW | pag | DG5S | D-Bea
D-M9CJA D-J59W D-A30 | b GsBA
D-M9LAV D-F5BA D-A30C | b =ooF
D-A44
Bore D-A44C
size A B A[B|A[B B|A[B|A[B|A[B|A][B
40 9 | 9 2 |2 55| 55/105[105| 3 [ 3 |0 [o K o |o
50 95| 85 25/ 15| 6 | 5 10 [ 35] 25[0 [0 15050 |0
63 [125[ 115 55/ 45| 9 | 8 13 | 65| 55| 25 | 15| 45]35 |3 |2
80 |165] 135 95| 65 |13 |10 15 | 105] 75| 65 | 35| 85|55 | 7 | 4
100 [18 |16 11 | 9 [145[125[195[175]12 |10 |8 |6 |10 |8 | 85|65
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Proper Mounting Height (Standard type) (mm)
Auto D-G50J
switch -
mocel D.GNT D-F50
D Moy |D-MoCV Do D-G39 D-F50W|D-AS0 |D-G39C
D-MomA | D-MOCWV D-P3DWA|D-P4DW| "2 ) | D-K39 | D-Ad44 |D-J59W |D-A6] |D-K39C | D-A44C
D-Aor]  |D-MOCAV D-GsoF | D-A3D D-F5BA |D-A59W |D-A3CIC
D-F59F
¢S5 D-F5NT
D-B64
Bore D-B59W
size Hs | Ht | Hs Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht |Hs Hs | Ht
40 [30 |30 [34 375| 35 425|133 | 37 715 815 31.5/385[31.5[ 73 | 69|81 | 69
50 34 34 |38 41.5| 39 |46.5|37.5 42 76.5 86.5 35.5/42 |35.5| 785| 77| 86.5| 77
63 |41 |41 |44 50 |41 |52 |43 | 49 83.5 935 43 [46.5]43 | 855 935] 91
80 [49.5| 49 [525 58 | 49 |58.5/51.5] 575 92 102 [53.5[51 [535[51 |94 [107[102 [107
100 |56.5| 56 |61 66 | 56 |66 |58.5] 68 1025 | 1125 57.5/61.5/57.5[104 112|121

518



Auto Switch Mounting CA2 Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Non-rotating rod type, With end lock) (mm)
Auto D-Y590] D-G39
switch D-Y690 D-G39C | oo
model | -M9[] D-Y7P D-K39 D-K59 D-F50
3'%35% D-A90) S g-ﬁ%c D-GSNT | p, g5y g-:ggF cJ1
D-MICWV | D-A90V | D-y7owy | DPSOWA| D-PADW | ppery | D-OSUW | ppes | D-Fscw | D-FSNT | D-ASSW
D-M9LA D-Y7BA D-A30 D-G5BA D-J59W CcJP
D-M9AV D-B59W D-A3CIC | " ioor D-F5BA
D-Z70 D-A44
CJ2

Bore D-Z80 D-A44C

sizeABABABABABABABABABABAB|:
40 10 8 6 4 4 1 5.5 3.5 35| 05 0.5 0 2.5 0 1 0 7 4 12 9 4.5 1.5 JCM
50 10 8 6 4 3.5 15| 53 3.5 3 1 0 0 2 0 0.5 0 65| 45| 115 95| 4 2
63 [125]|115] 85| 75| 6 | 5 | 8 | 7 | 55|45 |25 |15 |45[35|3 |2 9 | 8 |14 [13 | 65] 55| [CM2
80 16 14 12 10 95| 75| 115 9.5 9 7 6 4 8 6 6.5 45 | 125|105 | 175 | 155 | 10 8
100 175]16.5| 135 | 125 | 11 10 13 12 105| 95 | 75 65 | 9.5 85 | 8 7 14 13 19 18 11.5| 10.5 cm3

Note) Adjust the auto switch after confirming the operating conditions in the actual setting.

Auto Switch Proper Mounting Height (Non-rotating rod type, With end lock) (mm) @
Auto D-G50] CG3
switch D-K59
model D-Y5900 D-G50W Do JMB

D-M9CI D-Y7P D-K59W B
D-Morw|P-MeCV D-y70w/|B-Y69d D-GaoF | D-G39 D-F500W|D-A50] |D-G39C
D-MoCIA [D-MODWY| D-A9DIV | oo ¥ | D-Y7PV | D-PADWA | D-PADW| o0, | D-K39 | D-A44 |D-J59W |D-A60 |D-K39C | D-A44C| |MB
D-AoD)  |D-MITAV D.z70) |D-Y7OWV D-GaNT | D-A3D D-F59F |D-A59W|D-A3CIC
D-Z80 D-B50) L
D-B64 D-F5NT MB1
D-B59W

Bore

size Hs | Ht |[Hs | Ht |Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht m
40 30 | 30 |34 |30 |31 30 |30 |30 [30 |30 |37.5| 35 |42.5|33 37 715 81.5 |38 |31.5/38.5|31.5 73 69 | 81 69
50 34 | 34 |38 34 |35 | 34 |34 |34 [34 |34 |41.5| 39 |46.5|37.5 42 76.5 86.5 |42 |35.5|42 |35.5| 78.5| 77| 865 77 ‘CS1
63 41 41 144 | 41 [415] 41 |41 |41 |41 |41 |50 | 41 |52 |43 49 83.5 93 47 |43 |46.5/43 | 855 91| 935 91
80 49.5| 49 |52.5| 49 |50 | 49 [49.5/49 |49.5|49 |58 | 49 |58.5|51.5 57.5 92 102 53.5/51 |53.5|51 94 107 [102 | 107 csz
100 56.5| 56 |61 56 |58.5| 56 [58.5/55.5|57.5/55.5|66 56 |66 |58.5 68 102.5 1125 |61 |57.5|61.5/57.5(104 |121 [112 |121

D-(1
-XO



CA2 series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Air-hydro type) (mm)
Auto D-Y5901 D-G39
switch D-Y690 D-G39C | cer
model | p-M9LC] D-Y7P D-K39 D-K59 D-F501
D-M9CIV D-Y7PV D-K39C | aonT D-J59
D-M9OW |D-A90] D-Y7OW D-A50 D-B500 | D-F59F
D-MICWV | D-A90V | D-y7owy | DPOW | D-PADW | ppery | D-G5UW | pges | pFsw | DFSNT | D-ASSW
D-M9TJA D-Y7BA D-A30] D-G5BA D-J59W
D-M9AV D-B59W D-A300C | 'Aoor D-F5BA
D-Z70 D-A44
Bore D-Z80 D-A44C
size. \VA[B|A[B|A[B|A[B|A[B|A[B|A[B|A[B|A[B|A[B|A]B
40 9.5 8.5 5.5 4.5 3.5 15| 55 3.5 3 1 0 0 2 0 0.5 0 6.5 45| 11.5 9.5 4 2
50 [10 | 8 | — | — [ 35| 15| 55|35 3 1 o Jo [2 Jo Jos5]0 65| 45|115] 95| 4 | 2
63 |[125|115] 85| 75| 6 | 5 |3 | 15| 55| 4 | 25| 15|45 |35[3 |2 9 [ 8 |14 [13 | 65| 55
80 16 14 12 10 9.5 75| 6 4.5 9 7 6 4 8 6 6.5 4.5 45125 | 175|155 | 10 8
100 | 175] 165|135 125|111 [10 |8 |65 |105] 9 | 75| 65 | 95|85 |8 |7 |14 |13 |19 |18 |115] 105
* D-A90J and D-A90JV types cannot be mounted on 250.
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Proper Mounting Height (Air-hydro type) (mm)
Auto D-G500
switch D-K59
model D-Y5900 D-GSNT rahry
D y|D-M9CV TP |D-veor D W D-G39 D-F5CW|D-A5C | D-G39C
D-MorA | D-MOOWV| D-A9DIV | oy 2 | D-Y7PV |D-P3DW|D-PADW| " 2n) | D-K39 | D-A44 |D-J59W (D-A61 |D-K39C | D-A44C
D-M9CIAV D-Y7TOWV D-A3C D-F5BA |D-A59W |D-A3CIC
D-A90] D-Z70) D-G59F
D-F59F
D-Z80 D-B50 D-F5NT
D-B64
Bore D-B59W
size Hs | Ht |Hs | Ht [Hs [ Ht [Hs [ Ht |[Hs [ Ht [Hs | Ht |[Hs[Ht | Hs Hs Hs [Hs|[Ht|Hs|[Ht|Hs|Ht|Hs][Ht
40 [30 | 3035 | 3032 [30[30 [30 [30.5[30 | 38|30 |43 |335] 38 725 825 [385/31 |40 |31 |73 | 69] 81 | 69
50 [34 | 3430 |34 — | —[34 [34 [35 [34 |42 |34 |47 38 | 435 78 88 |42.5|35 |43.5|35 | 785 77] 865 77
63 |41 | 41 |46 | 41 (435 41 [41 [41 [425[41 [40| 41 |53 |44 | 505 85 95 |48 |42 |49 |42 | 855 91] 93s5] o1
80 [49.5| 49 |54 | 49 |51.5] 49 [49.5(48.5(51 [485| 56 | 49 | 60 [52 | 59 935 1035 |54 |50 |555[50 | 94 [107 [102 [107
100 57 56 |62.5| 56 |59.5| 56 |58.5/56 |59 |56 65 | 56 | 67 |59 69.5 104 114 62 |57.5/63 |57.5(104 |121 [112 |121
* D-A90 and D-A90JV types cannot be mounted on ¢50.
Operating Range
————
(mm)
Auto switch model Bore size Auto switch model Bore size
40 50 63 80 100 40 50 63 80 100
D-MOC/MOCIV D-Y59C1/Y6901
D-MOCIW/MITIWV 45 5 55 5 6 D-Y7P/Y70IV s 7 55 65 65
D-MSCIA/MOCIAV D-Y7OW/Y7OWV : : :
7.5 8.5 9.5 9.5 10.5 S
D-A9C/A9CIV - - - - - D-F50/J59/F5C0W
m e e e e D-J59W/F5BA 4 4 45 | 45 | 4s
D-Z701/280 8.5 75 95 9.5 10.5 D-F5NT/F59F
D-G501/K59/G5CIW
332259214c D-K59W/G5BA 5 6 65 6.5 7
9 10 11 1 1 D-G5NT/G59F
D-A501/A60] D-G5NBL 35 35 40 40 40
D-B501/B64 D-G39/K39 9 9 10 10 "
D-G39C/K39C
RSN i 18 it 1 15 D-P3DWA 4.5 4.5 5.5 55 5.5
D-B59W 14 14 17 16 18 D-P3DW Note 3) 45 5 6 55 6
D-P4DW 4 4 4.5 4 4.5

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially
depending on the ambient environment.

Note 1) (): For CDA200H and CDA2WOH Series.

Note 2) D-A90 and D-A90V types cannot be mounted on @50 of the CDA200H and CDA2W(IH series.

Note 3) Applicable to the CDA20JH and CDA2WIH series.

520



Auto Switch Mounting CA2 Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of Brackets other than Center trunnion
model auto switches center trunnion 240 ‘ 250 263 280 2100
2 (Different surfaces 15 80 85 %0 o5
D-M9CI and same surface) 1
D-MOCIW " 15+ 40052 80 + 40 04 90+ 40054 95+ 40054
(n=2,4,6,8-)Note1) (n=4,8,12, 16...) Note 2) (n=4,8,12,16-)Note2 | (n =4, 8, 12, 16.-) Note2)
2 (Different surfaces 10 55 60 65 70
D-M9CV and same surface) 1
D-MoCIWV N 10+30052 55+30 054 60+3005% | 65430058 | 70430052
(n=2,4,6,8-)Nte ) (n=4,8, 12, 16-.)Note2) (n=4,8,12,16-)N9e2) | (n= 4,8, 12, 16-) N2 | (n= 4,8, 12, 16-) Note2)
2 (Different surfaces
and same surface) 1 15 80 85 95 100
D-M9CJA , , , , ,
N 15440052 80+40 054 85+4005% | 95,4059 | 100+4005%
(n=2,4,6,8-)Nte ) (n=4,8,12,16-)Note2) (n=4,8,12,16-) N2 | (n= 4,8, 12, 16-) N2 | (n=4,8, 12, 16-) Note2)
2 (Different surfaces
and same surface) 1 10 60 65 70 s
D-M9LJAV _ _ _ _ _
N 1043002 60+30 054 65+3005% | 70430059 | 75,5059
(n=2,4,6,8-)Note1) (n=4,8, 12, 16-) Note2) (n=4,8,12,16-)N%2) | (n =4, 8, 12, 16-)\o%e2) | (n = 4, 8, 12, 16-..) Note2)
2 (Different surfaces 15 75 80 85 %0
and same surface) 1
D-A90] _ _ _ _ _
N 15440052 75+ 40054 80+ 40054 85+4005% | 90440050
(n=2,4,6,8-)Note1) (n=4,8,12, 16...) Note 2) (n=4,8,12,16--)Ne2 | (n=4,8, 12, 16.-)Nole2)| (n = 4, 8, 12, 16.-) Note2)
2 (Different surfaces 10 50 55 60 65
and same surface) 1
D-A9CIV , , _ _
N 10430052 50+30 054 55+3005% | 60430058 | 65430052
(n=2,4,6,8-)Ne ) (n=4,8, 12, 16-.)Note2) (n=4,8,12,16-) N2 | (n= 4,8, 12, 16-) N2 | (n= 4,8, 12, 16-) Note2)
2 (Different surfaces
D-F50]
D-FgD(IJV?JgSQW and same surface) 1 15 90 100 o 120
D-FSBAFSOF | | o orace) 15455032 90+55 054 100+55 858 | 110455058 | 120455058
D-ASCI/A6 (n=2,4,6,8-)Ne (n=4,8,12, 16 Note2) (1=4,8,12, 16N | (n=4, 8, 12, 16-) N2 | (1 =4 8, 12, 16--) Mo
2 (Different surfaces
and same surface) 1 25 110 120 130 140
D-F5NT _ _ _ _ _
n (Same surace) | 25+55" 72 110+ 55 154 120455029 | 130455059 | 140455059
(n=2,4,6,8-)Nte ) (n=4,8,12,16-)Nete2) (n=4,8,12,16-) N2 | (n=4, 8,12, 16-) N2 | (n=4,8, 12, 16-) Note?)
2 (Different surfaces 20 %0 100 110 120
and same surface) 1
D-A59W n (Same surtace) | 20+ 5550 90+ 55054 100+5505% | 110455054 | 120455054
(n=2,4,6,8.)Note1) (n=4,8,12, 16...) Note 2) (n=4,8,12,16-)N%e2) | (n = 4, 8, 12, 16-)Note2) | (n = 4, 8, 12, 16...) Note2)
1 15 90 100 110 120
Different surfaces 15
u 2 90 100 110
g-gggc\l(sg Same surface 75
(-2 (-4 (n-4) (-4
D-K59W Different surfaces| 15 +50° 3 90 +50%5 100 + 50 110+ 50
3-855: n (=2, 4,6,8-)Noe 1) (n=4,8 12, 16...) Note?) (n=4,8,12, 16.)Noe2) (n=4,8,12,16..)Note2)
-G5!
75 +50 (n - 2) 90 +50 (n-2) 100 +50 (n - 2) 110+ 50 (n - 2)
g'ggg}ram Samesurface |, _5 3, 4..) (n=2,4,6,8-) e (n=2,4,6,8.-)Noe ) (n=2,4,6,8.-)No 1)
1 10 90 100 110
Different surfaces 20
Same surface 75 % 100 110
(n-2) (-4 (n-4) (-4
Different surfaces | 20503 90 +50 100 +50 5 110 +50
D-B59W n (n=2,4,6,8-)Note) (n=4,8,12,16...)Note2) (n=4,8,12, 16 Noe2) (n=4,8,12, 16...) Note 2)
Same surface | 72 +50(1-2) 90 +50 (n -2) 100 +50 (n - 2) 110 +50 (n - 2)
n=2,3,4-) (n=2,4,6,8.)Note1) (N=2,4,6,8)Noe1) (N=2,4,6,8.)Note )
1 15 90 100 110

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

521

[=)
=
~

[=)
=
)

[}
D
-

[
D
w

[
=
(-~}

=
=
—

(5]
(7]
-

(5]
n
N



CA2 series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of Brackets other than Center trunnion
model auto switches center trunnion 240 I 250 063 280 [ 100
Different surfaces 35 75 80 90
Same surface 100 100 100 100
D-G39 ] 35+30 (n-2) 75 +30 (n-2) 80 +30 (n-2) 90 +30 (n-2)
D-K39 Different surfaces (n=2,3,4-) (n=2,4,6,8.)Note1) (N=2,4,6,8.)Note1) (n=2,4,6,8-)Nte1)
n
D-A30 Same surface | 100+100(n-2) 100 + 100 (n - 2)
(n=2,3,4.) (n=2,4,6,8-)Note?)
1 10 75 80 90
Different surfaces 35
75 80 90
Same surface 55
Different sufaces | 25 +30(=2) 75+30 (n-2) 80 +30 (n-2) 90 +30 (n-2)
D-A44 (n=2,3,4-) (N=2,4,6,8-)Note 1) (n=2,4,6,8-)Noe1) (1=2,4,6,8-)Nte 1)
n
Same surface 55+50(n-2) 75+50 (n-2) 80+50(n-2) 90 +50 (n-2)
(n=2,3,4-) (n=2,4,6,8-)Note ) (n=2,4,6,8-)Note 1) (n=2,4,6,8.)Nte1)
1 10 75 80 90
Different surfaces 20 75 80 90
Same surface 100 100 100 100
g'gggg Different sufaces | 20+ 35 (N =2) 75+35(n-2) 80 +35 (n-2) 90 +35(n-2)
D:ASDC N (n=2,3,4-) (N=2,4,6,8)Nte1) (n=2,4,6,8.)Note 1) (n=2,4,6,8-)Note 1)
Same surface 100 + 100 (n - 2) 100 +100 (n -2)
(n=234,5) (n=2,4,6,8-)Noe)
1 10 75 80 90
Different surfaces 20
75 80 90
Same surface 55
Different sufaces | 20+ 35 (=2) 75+35(n-2) 80 +35(n-2) 90 +35(n-2)
D-Ad4C (n=2,3,4-) (n=2,4,6,8-)Note?) (n=2,4,6,8-)Noe 1) (nN=2,4,6,8-)Noe )
n
Same surface 55+50(n-2) 75+50 (n-2) 80+50(n-2) 90 +50 (n-2)
(n=2,3,4-) (n=2,4,6,8-)Note?) (n1=2,4,6,8-) M) (n=2,4,6,8-)Note )
1 10 75 80 90
2 (Different surfaces
D-Y590)/Y7P | and same surface) 1 s 80 85 90 9% 105
D-Y7OW _ _ _ _ , ,
D-z70/Z80 R 15440032 80+40 054 85+ 4054 90+40 054 95+ 4054 105 + 40 54
(N=2,4,6,8-)Ne 1| (1=4,8,12,16-) N2 | (1=4,8,12, 16-)Ne2 | (1=4, 8,12, 16.-)Ne2 | (1=4, 8, 12, 16.-)Nte2) | (n = 4, 8, 12, 16...) Note2)
2 (Different surfaces 10 65 75 80 90
D-Y69C/Y7PV and same surface) 1
D-Y7OWV N 10430032 65+30 054 75430058 | go+300zY | g0+3005Y
(n=2,4,6,8-)Note) (n=4,8,12,16...) Note2) (n=4,8,12,16-)N0e2 | (1=4,8,12, 16.-)Ne2) | (1 = 4, 8, 12, 16...) Note2)
2 (Different surfaces 20 95 100 105 110
and same surface) 1
D-Y7BA _ _ _ N _
N 20+45 052 95445054 100+45 058 | 105445058 | 1104450258
(n=2,4,6,8-)Note) (n=4,8,12,16...) Note2) (n=4,8,12,16-)Ne2 | (1=4,8,12, 16.-)Nte2) | (1 = 4, 8, 12, 16-..) Note2)
2 (Different surfaces 15 85
and same surface) 1
D-P3DWA - =
g N 15450052 85+50 054
(N=2,4,6,8-)Note) (n=4,8,12, 16...) Note2)
2 (Different surfaces 15 85
and same surface) 1
D-P3DW Note 3) _ —
g N 15450052 85+50 5%
(N=2,4,6,8)Note 1) (n=4,8,12,16-)
2 (Different surfaces 15 120 130 140
and same surface) 1
D-P4DW _ _ _ B
N 15465052 120 + 65 054 130 + 65 254 140+ 65 054
(N=2,4,6,8-)Note) (n=4,8,12, 16...) Note2) (n=4,8, 12, 16 Noe2) (n=4,8,12, 16...)Note2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.
Note 3) Only applicable to the CDA200H and CDA2W[H series.

522




Auto Switch Mounting Brackets/Part No.

<Tie-rod mounting>

Auto Switch Mounting CA2 Series

Auto switch Bore size (mm)
model 40 50 63 80 100
D-M9C/MOCIV
D-MOCIW/MCIWV
D-MSTIA/MOIAY | BAT-040 | BA7-040 | BA7-063 | BAT-080 | BAT-080 CJ1
D-A91/A90IV
D-F501/J59 CJP
D-F500W/J59W
D-F59F/FSNT BT-04 BT-04 BT-06 BT-08 BT-08 c JZ
D-A501/A60]
D-A59W JCcMm
D-G39C/K39C
D-A3CIC/A44C BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100
D-Y5901/Y690] cMm2
D-Y7P/Y7PV
DYZISWZEWN BA4-040 | BA4-040 | BA4-063 | BA4-080 | BA-080 = The figure shows the mounting example for the D-M9CI(V)/MITIW(V)/ CM3
D-Y7BA MICIA(V)/ATI(V) types.
D-Z700/Z80
D-P3DWA BK7-040S | BK7-040S | BA10-063S | BA10-080S | BA10-080S CG‘I
D-P3DW Note 2) |BMB9-050S |BMB9-050S| BAIT-063S | BA9T-080S | BAIT-080S
D-P4DW BAP2-040 | BAP2-040 | BAP2-063 | BAP2-080 | BAP2-080 ch
<Band mounting>
Except air-hydro type Air-hydro type JMB
Auto switch Bore size (mm) Auto switch Bore size (mm)
model 40 50 63 80 100 model 40 50 63 80 100 | |MB

D-G39/K39 D-G39/K39
D-A3CV/A44 BDS-04M | BDS-05M | BMB1-063 | BMB1-080 | BMB1-100 D-A3CV/A44 BD1-04M | BD1-05M | BD1-06M | BD1-08M | BD1-10M MB1
D-G501/K59 D-G50/K59
D-G500W/K59W D-G50JW/K59W
D-G59F D-G59F
D-G5NT BH2-040 | BA5-050 | BAF-06 BAF-08 BAF-10 D-G5NT BA-04 BA-05 BA-06 BA-08 BA-10
D-G5NB D-G5NB CcS1
D-B501/B64 D-B501/B64
D-B59W D-B59W CS2
Note 1) Auto switch brackets are included in the D-A3CJC/A44C/G39C/K39C types. Specify the part number as follows depending on the cylinder size when ordering.

(Example) 040: D-A3[]C-4, 650: D-A3CIC-5, 263: D-A3(JC-6, 080: D-A3[]C-8, 100: D-A3[1C-10
[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit (including set screws) is also available. Use it in accordance with the operating environment.
(Since the auto switch mounting bracket and band are not included, order them separately.)

BBA1: For D-A5/A6/F5/J5 types
BBAS3: For D-B5/B6/G5/K5 types

Note 2) Only applicable to the CDA2C0H and CDA2WIH series.
Note 3) Refer to pages 1681 and 1689 for details on the BBA1 and BBA3.

The above stainless steel screws are used when a cylinder is shipped with D-F5BA or G5BA auto switches. When only an auto switch is shipped independently, the BBA1 or BBA3 is attached.
Note 4) When using the D-MICIA(V) or Y7BA, do not use the steel set screws which are included with the above auto switch mounting brackets (BA7-000, BA4-

000). Order a stainless steel screw kit (BBA1) separately, and use the M4 x 6 L stainless steel set screws included in the BBA1.
Note 5) There is a difference in the cylinder tube thickness depending on the cylinder model. Use caution when a band mounting type is used as an applicable auto switch and a cylinder model is changed.
1 Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1
1 Referto pages 1575 to 1701 for the detailed specifications. 1
1 Type Model Electrical entry Features 1
1 D-M9NV/M9PV/M9OBV _ 1
1 D-Y69A/Y69B/Y7PV 1
1 D-MONWV/M9PWV/M9BWV Grommet (Perpendicular) Diagnostic indication 1
1 D-Y7ZNWV/Y7PWV/Y7BWV (2-color indicator) 1
1 D-M9NAV/M9PAV/M9BAV Water resistant (2-color indicator) 1
1 Solid state D-Y59A/Y59B/Y7P _ 1
1 D-F59/F5P/J59 1
1 D-Y7NW/Y7PW/Y7BW Diagnostic indication 1
1 D-F59W/F5PW/J59W Grommet (In-line) (2-color indicator) 1
1 D-F5BA/Y7BA Water resistant (2-color indicator) 1
1 D-F5NT/G5NT With timer 1
1 D-P5DW Magnetic field resistant (2-color indicator) 1
1 D-A93V/A96V . — 1
1 Reed D-A90V Grommet (Perpendicular) Without indicator light 1 pO
1 D-A53/A56/B53/Z273/276 Grommet (In-line) — 1
1 D-A67/Z80 Without indicator light 1 XD
I« With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1648 and 1649. 1"
I = Normally closed (NC = b contact) solid state auto switches (D-F9G/FOH/Y7G/Y7H) are also available. For details, refer to pages 1593 and 1595. 1 Technical
I 8

523



CA2 series
Made to Order: Individual Specifications

Please contact SMC for detailed dimensions, specifications and lead times.

Symbol
n Cylinder with Heat Resistant Reed Auto Switch (-10 to 120°C)
Applicable Series
‘ Description ‘ Model ‘ Action ‘ Note ‘
‘ Standard type ‘ CA2 ‘ Double acting, Single rod ‘ ‘
How to Order
CDA2 | Standard model no. | z -| Pivot bracket || Rod end bracket |- | Heat resistant reed auto switch - X1184

Switch model

Symbol| Description

Nil | Without switch
B30 D-B30
B30J D-B30J Number of switches
B31 D-B31 Symbol | Description
B31J D-B31J S 1 pe.
B35 D-B35 Nil 2 pes.
B35J D-B35J n n pes.

Cylinder with heat resistant reed auto switch

= For details about auto switches, refer to page 1671.

Specifications

Ambient temperature range —-10°C to 120°C Awarning
Seal material Fluororubber Precautions
Grease Heat resistant grease

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

Dimensions (Dimensions other than below are the same as standard type.)

LLRa
S + Stroke
ZZ + Stroke
(mm)
. Minimum mounting stroke Auto switch mounting bracket
Boresize | Hs | RA | Re S Zz Other than center trunnion Center trunnion part numbe?
40 575 | 4 13 99 | 161 180 st or more BD1-04M
50 625 | 4 13 105 | 174 | 1 pc. : 50 st or more 180 st or more BD1-05M
63 69 7 16 113 | 185 | 2 pcs.: Different surfaces 50 st or more | 190 st or more BD1-06M
80 78 55 | 235 | 131 219 | 2 pcs.: Same surface 220 st or more 200 st or more BD1-08M
100 885 | 75 | 2565 | 141 230 210 st or more BD1-10M

524



CA2 series

Ak

Specific Product Precautions

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

Handling \

Disassembly/Replacement

A\ Caution

1. Do not open the cushion valve beyond the stopper.
A retaining ring is installed as a cushion valve retention
mechanism. Do not open the cushion valve beyond it.

If not operated in accordance with the above precautions,
the cushion valve may be ejected from the cover when air
pressure is supplied.

Bore size (mm) Width across flats Socket wrench

40, 50 25 JIS 4648 Hexagonal wrench key 2.5

63, 80, 100 4 JIS 4648 Hexagonal wrench key 4

2. Use the air cushion at the end of cylinder stroke.
Otherwise, the tie-rod or piston rod assembly will be damaged.

A\ Caution

1. Do not use a pneumatic type as an air-hydro cyl-
inder. It can cause oil leak.

2. Do not rotate the piston rod when the rod boot is
fixed.
Before rotating the piston rod, loosen the band to avoid
twisting the rod boot.

3. Install the rod boot with the breathing hole facing
downwards or in a direction suitable to prevent
dust, moisture etc. from entering easily into the
rod boot.

A\ Caution

1. Use a socket wrench when the bracket is replaced.

If other tools are used, the nut or other parts may be
deformed or the work efficiency may decrease.
For applicable sockets, refer to the table below.

e e sow e

40,50 (M8 x 1.25?}::2;2:2ut 3types) 13 + Two-Jeli:glla: (igkel 13 74
63 (M10x1 2;) :;2§o1n(:mt 3 types) 7 + Twoijzliﬁg?: iggkel 17 20

80,100 (M12x1 75? :gggﬁlut 3 types) 19 + Twoijallig?: giikel 19 29

2. Do not replace the bushing.

As the bushing is press-fit, replace the cover assembly
when the bushing must be replaced.

3. When a seal is replaced, apply grease to the new seal

before it is assembled.
Operation of the cylinder without greasing will result in extreme
abrasion of the seal, causing premature air leakage.

4. The trunnion type cylinder requires accuracy in as-

sembly.

The trunnion type cylinder may lose dimensional accuracy
and malfunction when it is disassembled and reassembled
because the axial center of the trunnion and that of the
cylinder will not be aligned easily.

Water Resistant Air Cylinder

Water resistant air cylinders are also available in CA2 series, which are
suitable for use on machine tools, where exposure to coolant is possible
and applicable for food machinery and automobile washing equipment
in an environment where water splashes. Please contact SMC for more
information.

(BN ¥]
[ BIN7]
N || =



	Air Cylinder: CA2 Series
	Features
	Pg. 2
	Pg. 3
	Pg. 4

	How to Order CA2 Double Acting, Single Rod, Standard
	Specifications, Standard Stroke, Accessories
	Ordering Examples, Kinetic Energy, Mounting Brackets
	Water Resistant
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8
	Pg. 9
	Pg. 10
	Pg. 11


	How to Order CA2W Double Acting, Double Rod, Standard
	Specifications, Standard Stroke, Accessories
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5


	How to Order CA2K Double Acting, Single Rod, Non-rotating
	Specifications, Standard Stroke, Weight
	Precautions, Construction
	Dimensions

	How to Order CA2KW Double Acting, Double Rod, Non-rotating
	Specifications, Standard Stroke, Weight
	Construction
	Dimensions

	How to Order CBA2 w/End Lock
	Specifications, Standard Stroke, Accessories
	Weight
	Construction
	Dimensions
	Specific Product Precautions

	How to Order CA2*H Double Acting, Single Rod,Air-hydro 
	Specifications, Standard Stroke, Accessories
	Construction
	Dimensions

	How to Order CA2W*H Double Acting, Double Rod, Air-hydro
	Specifications, Standard Stroke, Accessories
	Construction
	Dimensions

	How to Order CA2*Q Double Acting, Single Rod, Low Friction
	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7

	Made to Order
	Specific Product Precautions




